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B.Com. (Part 1I) Examination, 2017

ECONOMIC ADMINISTRATION AND FINANCIAL
MANAGEMENT |

Second Pa‘pcr
(Banking and F inancial System)

Time allowed : Three hours '
Maximum Marks : 1 00 ' |

This paper contains ten questions having two
each Unit. The candidates are

S

questions in

required to attemp! five questions in all,

selecting at least one question from each Unit.

The Candidates have (o answer parl (a) of the

—~questions in approximately 3-4  pages (500

___words) and Part (8) of the question in , .

| approximately —one  page (100 words). All ‘ ‘f

k- questions carry equal marks. ’
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NIT -1

_ : : of Indian capital market. (4]
; g -1 Q"/ _-Explain four main trends of In { 1 U BRI
L Aa)  Explain the static and dynamic functions ot'm(,ney 8 aRa ¥ don 9o’ Eal %TR e o
o 104
T4 3 Wifos v yidfire ot o 99 | ' /,Oﬁm
(&)  Why moenev was invented ? 4 5 111 :
R . ' . icy. f16}
y SRl ¥ g (@) Write an essay on India’s Monetary Policy-
s ffa |
% @ What do you mean by money market ? Explain i i A A R @ T .
o ; . {41
A ' [5+5+6] (b) Write the four objectives of credit control. .
8T SR F S g WHIR 87 ST ARE qp _ o @ AR 94T farE |
T T | o dia. Explain its main
(b) Di () Explain the Fiscal Policy ofndis: £55 [10+6)
(b}  Discuss main instruments of ioney market. [4]'/ drawbacks
© - EEI GIR 999 SYaRYl aaisd | Eﬁm@—q-mmaﬁﬂmlmm
- qargd |
IT-1I < 4
. TR ®) . Explain interest rates. .
. . 2o <37 B W B |
{2}  What are the componenis of financial system ? [16] / = @
faefia 7l & s Bz @ & | UREEE.
{bj  Write names of four financial in.termediary institutions. % - .
ding ? in the role of
- [4] 1@ What do you mean by E-banking ? e - (412
TR a5 Segwy HrerEt & A ferfeu | E-Banking in present time. . £
4 Write an eec b ol ek ' S-3fET | o9 T qEAA ¥ wdwm g § 4
i e an i £~4¥ On Capj al market.
o [16] @ “ﬁﬁ qaEEd |
S SEIR G U e fafag
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8. (a)
(b)
9. (a)
(b)
10. (a)‘

(b)

What is internet ? | [4)
L I, S & & N} \ / .
geuae 9T 87 _.
) p) ‘c;

What is financial EDI ? Explain the working ang
importance of EDL [6+5+5)

i €. @) o, w87 . Sl Ak B B g
uqd Weeg 9argy |
What is mobile banking ? [4]
HeTse dfhT @ 87

UNIT-V

TEHE -V

Describe the problems of Institutional Credit in India.
[16]

RGN GRg 9 GReiel b1 afaRdr g
PR |
Explain short-term credit. , [4]

3@%@?{?{@@@%@!

Discuss conflicting operatlonal pressures before Bank
Nationalization. [16]

S TERERY B qd weq At frard g9

&7 e AR |
What is nationalization of Banks? | [4]
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Com. (Part-11) Examination, 2018

CONOM1
OMIC ADMINISTRATION AND FINANCIAL
MANAGEMENT

Second Paper

LY

(Banking and Financial System)
Time allowed : Three hours

Maximum Marks - 100

This Jpaper contains ten questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least ome question from each Unit. The
candidates have to answer part (a) of the questions
in approximately 3-4 pages (500 words) and Part
(b) of the question in approximately, one page
(100 words). All questions carry equal marks.

39 U%H oF ¥ &g uee R W # | e gard
451 g R g e @1 gyt
® SR 1 Bl WS DR O TH R @l
SR o S 8| Wemil &1 ude uwT @
AT (a) BT TN 3—4 Y T (GWRIT 500 Ireaf
#) Ud | (b) & TN Ub UG H I 100
st ¥ forar &1 Wl uel & afe | § |

UNIT -1
g — 1]

«Money is the pivot around which the whole Economic
1. ) Science clusters”. Explain the statement and describe
' - ! tem.
: te money in modern econonuc sys
the importance of y 412]

».T1.0.

(1)
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(b)

(a)

(b)

(a)

(b)

TR BT 3 pd @1 FAEN EY M
YUl # HaT & Hew R goprel Sierd |

What is representative paper money ?

iGas
iy - UNIT - 111

= — 11l
[4p ‘What ?;re the main drawbacks of India’s Fiscal Policy ?
gfafafe o3 a1 @ g7 ' Suggest measures to improve their drawbacks 7 [8+8]
’ TR <R A @) g B B SS TR S
Analyse the factors that resuit in inflation ? Wha are FT FRR B ¥ F &g g AR
the methods to control it ? [8+8)) Define Fiscal Policy. 4]

fPrif3a &= & Surl @l 9asy | i

1) Write short notes on any two : [8+8]

Define Inflation. 4] frdt & w ps :

g i A I | (i) Shortcomings of Administered Interest Rates.
UNIT - II SeqaTeT FeTaf @ret i # FeEe o B
= — il (ii) Rates of irllterest on B:ink Deposits

o L Jo SISl R T &
Write an essay on Financial System. (6] .. Market Oriented rates of interest
o worell WY U feey fafag | (iii) Market Oriented ra es\.o

; . qIoTR IR &ref X |
What do you mean by Financial System ? (4]

b) Define “Monetary policy”. [4]

2T woTel 9 SRl T areqd § 7 e SR @Y R |

Explain the factors contributing in the growth of NIV
Capital Market in India ? Describe various problems -
being faced by Capital Market in India. [8+8] @K = vl

o iy . What do you mean by internet banking ? What are the
— T S —i ﬁ . N m 1 B 4
s R U L & fawm § weHd iy risks associated with it ? What precautionary measures

STerE B 7 WRA H Il iR @ | 3 v should be taken by a customer ? [4+6+6]

aREnE @ Jookd BT | GeTTe dfsr A oM ¥ P S W g3

Xf.'iizc any 1&»‘50 functions of Capital Market. [4 %Tfir:;[ m%l 'TXQT;QIITW Al

TN AR B B a1 B forlkay | 5 Define “Retail Banking”. [4]
e AT @ o P |

(3) P.T.O.
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8. (a) Write short notes on the following (any two).

o W) e fewforat faRRaw | (HE )
(1) E-payment '
g-tie "
(11) Financial EDI
prgHRe (i) €. ?spf SIES
(ii1) Mobile Banking

Ararget dfe
(b) Importance of E-banking. - [4]
g—afdiT BT HEd |
UNIT -V
g — VI
9, (a) Explain in detail the Credit Control Policy of Reserve
: Bank of India. [16]
BT | - |
(b) Write any four functions of RBI. — [4]
IRANATE B B IR F&A P e |

10. (a) Write an essay on Recent Trends in Banking s'ectof‘

development in India during liberalization period [16]

w@mémﬁmﬁmmfﬁﬁmﬁ

AT gl R U ey fafeg |
(b) What s S.L.R. (Statutory Liquidity Ratio) ?

¥
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(.-254
B.Com. (Part 1) EXAMINATION, 2016
BUSINESS MANAGEMENT

Second Paper

(Principles of Marketing)

Time allowed : Three hours

Maximum marks : 100

This paper contains ten questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least one question from each Unit. The
candidates have to answer Part (a) of the
question in approximately 3-4 pages (500
words) and Part (b) of the question in
approximately one page (100 words).

s goT g § &7 g RF 7 &1 §AF 555
& g1-a1 yo7 139 7@ &1 qdwmar @ ara g9
3 gre 37 &1 TR @ 5 7 g
y9T 3T FE G4 SR &1 TRl B FAT
YFT F T (q) FT TAT ATHT 3-4 81 7 (97T
500 =T §) g7 AT (b) T F G GE FE
F (@ 100 7= ) feaar &

Unit-T

EEIER)|
1. | (a) Define the term ‘Marketlng and Clearly explaln the
importance of Marketing in Modern age. 16
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9

(b)

(a)

(b)

(a)

o T @ g S
quT
T g A e I 73
T
ol

frqurT % Hew & WT €9 ¥ gHHAEQ|
Discuss the Scope of Marketing

Bqur ¥ & & T A

Whatdoy 2
you mean by Marketing Concept ? D;
* Vistingujg
|

4

betwee 1
" n Selling Concept and Marketing C

& Lonce
U U T 4T AT © 7 Wamrmnmﬁ
EEHCECERIRVIET H Y aﬁllﬁim ™

E
numerate four Ps of Marketing Mix
faqur ﬁvm%w‘ﬁ’ﬁwﬁ] ) 4

Unit-11
W W-H

hat is me
ant by marketing Environment ? E
? Explain.

\\;h\' 15 i
i t necessary
1 t
Environment? y to Study the Marketing
%q‘ar:f
a’]’ﬂTaT\‘U]' o ]6
oo AR RIRIEIL S U B B L
AT T W wﬁ- 4 %. Wl
Enumerat AETF & 7
ethe C ‘
Marketine omponents of *“M .
eting. acro Environment of
&ﬁm -
F Tafe ¢ i
CIRICEWN Eﬁ - a):r I

What is
Lis meant by M
¥ Market Se

advan c 1
tages and essentjas gmentation ? State its

EIEIES o
- et 16
; P AT § ? 5635 At v
A} qa"aﬂ-a-m

f Consumers. ¢
N ?\\ PL Y4
) R 14

(b) Statc the types ©
gared | A

IERIEUCIREN

9 Explain the Various Stages
help of @ Chart. 10
# faf

oduct life Cycle
ith the

Saqre SEA AE

(a) What is Pr
of Product life cycle W

aﬂﬁaﬂ'fﬁﬁw%?
mﬁﬁmml :
4

ibe the characteristics of a Product.

ot FIC!

roduct Planning and
16

(b) Desct
3@ yaraarst #

5. (a) DiscusS various Components of P

development.
e fored T
HfT

() Explain the diffe

Feurh T T

ﬁmm%ﬁﬁﬁﬂa—aﬁa?fﬁm

rence between trade m

3 s & HC
Unit-1V
-1V
(a) Discuss the various Pricing Methods.
e e 1 B sl
(b) What 1S «Resale Price maintenance” ? Statc its
advantages 4
qa: fr T fararfeor F1
3

16

7.

and disadvantages:

%?{a%ﬁm—awaﬁr@\
p.T.O.
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ity

g (1) Whatdoyoumean by Channels of Distribution ?Dr“"
its functions, Describe the main types of distrip,
channels used in modern business world.

VAGTor T 3 T T R ¥ 7 gk et ey
0 g e o 3 vt g

SR & e Aot a7 quiy A
(b) Distinguish between a wholesaler and a retailer. 4
A1 AT U3 Feay sardt § avqe )
Unit-V
-V
9. (a) What is Promotion Mix ? Discuss the factors
influencing Promotion mix of an organisation. 16
JIET oo @y ¥ 2 foeft wwrew % dag e &y |
ST e aTet wewl ot fra=ar i)
(b) What is ‘Sandwichman Advertising’ ? 4
T Gy e
10. (a) Discuss the advantages and disadvantages of choosing
career in Selling, (G
, )
e Y A e g o ot
)
B fa=r Hifg
(b) Explain the E-Marketing
| - 4

200 -
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C-251

B.Com. (Part-11) Examination, 2017
BUSINESS MANAGEMENT
Second Paper
(Principles of Marketing)
Time allgwea’ - Three hours

Maximum Marks : 100

This paper contains ten questions having two
questions in each Unit. The candidates are required
to attempt five questions in all, selecting at least
one question from each unit. The candidates have
to answer Part (a) of the question in approximately
"3-4 pages (500 words) and Part (b) of the question
in approximately one page (100 words).

597 JeIYA # oW 59T 74 7w &1 ydH FHTE
7 grel ge7.fed w3 & wdentfar @ ug
geat @ gav &9 81 Wenda @l AdE

sHE # ® U FET P SV o A &
gt & gedd HI @ HIT (a) BT TR

T 34 gt F (@ 500 g W) v
37T (b) HT T GR IF JC H (FPT 100
gt #) for@r &1

UNIT -1
3o -1
- o mix ? Di i nents.
1. (2) Whatis marketing mix ? Discuss its components e
g Rysyor T & ? ERiEd HeRt B e AR
o LR (1) ~ PTO.
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(b) Whaf are
the factors affecti
ecting marketi
; Ing mix ?

2. (a)

(b)

@)

(®)

da
)
%)

ih)

C-251

fauor fi
ST BT JHIIAT B ATt T B |
HE?

DiSCU (o} a
ﬂl‘ketin | {
g‘ = ( )

fauem &Y
Qigﬂa Td & B fader FHiRTT [l
I

> l and m
= .

famg
T fquoe # e qag |

J

UNIT -11

3618 11
6.

What i
IS meant by
y consumer behaviour ?
r ? Explai
plain the °

factors affecting it
[16]

ITHTE
T TRER I | Ay @) GaIE
TS UTH BT qofg FifTg 92

L

Di Cus
S SS the na
ture Ofconsumer beh

‘v- A aviour.
Ql ) 1| | \% [ ]
SUHIG alqu aél Qgil(. Gl laaﬂ'l 35%
D S i i~ |

< lb‘ I I
_ n detail

e n lhe different baSC

I - S Of market A\

43qig or i) 'Enqa
':r:~—.’* GHlaT P 3“9,][#] G| Iaﬁia [1 ]

Gl | ‘
J){fxﬂl’;

al S€¢1 -
ma ktt S¢y nentation

araw frah
A ) i g !
NN

tras

What do you mean =

(b What is

(a) What is Bran

() WhatisP2

. p‘-ocedUIC. yterdl
 fr @ o T o & 7 T 2
oA HfAt |
BT

meant by product ?

gearg @ @@ 3 &

a7 Discuss the essentials of a good prand.
" »[16]

mﬂ%m%7@3ﬁmﬂgﬁwﬁﬁ ’

FHie
(41

ckaging ?

g @ © 7
pNIT-1V

g -1V
9 Describe the pricing

a Wwhat do you mean by pﬁdﬂg
ptocedure 6]
@W%mw@%vﬁﬁmaﬁ
e P ot g !
) Discuss {he various pricing methods. s 4]
el fR™ = b et @ et &1
P.T.O.
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8 (u) "Wholesalers are  unnecessary in the present

, _ § Strih
system". Do you agree with this statement ? Djgey . !

"0 RN G feRer Yol ¥ srravas R
3T 9 FAT A WA § ? THIRY | c

(b) Distinguish between departmental stores and chajp sloy
;

[
[ WoeR Ud sjemag-aueRY § s ALY |
UNIT-V
SPIE -V
9. (a) Discuss the various methods of Sales Promotion. [16
R waefa o R Rl a1 ok g
(b): What do you mean by Sales P'romotion 4 4]
19%Y-HaET W 3 77 e & 7
10. (a) Money Spent on advertising is not wasteful". Do voy
agree ? Give reasons for your answer, | [}ll 0]
%@WWWWW@W:"WW
WEHT & ? 30 TR P pRor wfed wwemey |
(b) What is advertisement 9 | I [4]
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5. B.Com, (Part-IT) Examination, 2018
“*’/. BUSINESS MANAGEMENT
Second Paper
(Prineiples of Marketing)
Time allowed ; Three hours

b Meximum Marks @ 100

This paper contains ten questions, having fwo
questions in each Unit. Candidaies are required to
attempt five questions in all, selecting at least cne
question from each Unit. Candidales have
answer Part (a) of the question in approximately
3-4 pages (500 words) and Part (b) of the question
in approximatelv one page (100 werds). |

o weTTE % we W R ¥ O iR
§ e W &Y ™ #| wanRi @ de
qeRi & wav 39 €| vheiEl B e 9T
§ % mF uw @ Sar o e ®
THeRfat & S U @ AT (a) B VW
ST 3—4 gl (AT 500 HEARGIIRG ]
m(b)mzﬁrwwqﬁf#@mﬂ 100
o] #) forE B

UNIT -1
g5 - I

1. (a) Descrfbe the meaning of marketing. Specify the
[4+12]

importance of marketing.

Wﬁmaﬁw@lmmmmaﬁml

P.T.O.

C-208 (1)
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(b) Distinguish between traditional and modern | UNIT 10
concept. Market
A - 111
T UaT IE fQqur srquron IR aﬂﬁmi what is the difference between consumer and industrial
(a) It is often contended th | goods ? Explain the functions of packaging. [4+12]
ended that i : i . @ . : .
synonymous. Explain. marketing and selling are N gt T e Sare § e 8 TR @
8 . [“ Frd AT |
RRERCER I e i g | THsEy | 1) ‘Enumerate essentials of a good package. [4]
(b) What are four P’s of Marketing Mix ? | e IS Yo B S e e BRI |
fagque fasmor & AR ‘PPFEIE ? , ) Explain the concept and stages of product life cycle.
UNIT - II [4+12]
- ; i 1 el |
s - 11 ‘% Wsﬂaﬂﬁﬁmwmﬁﬁ
! : (4] -
(a) Explain the term ‘Market Segmentation’. State thp) Define product planning.
significance of Market Segmentation in moder gare fRIGH @I qRfa @it |
marketing environment. [4+12
IoR  [ufdexe wes @1 FHsEd | e fauuk UNIT -1V
TR H FoR fanfdaesor &1 78 qagy | .
. .. : f a product.
(b) What are the factors affecting the behaviour o}a ) Explain the factors determining the price of 2 P 61
consumer ? 4
' i g1 Al
N N y o | _ G X el FR®! B
I aER B GHIT B ATl HEd B W T | 1 gere B T
(a) What is consumer behaviour ? Explain the importanc¢z P | ol [4]
* of consumer behaviour. [4+12]3,’b) Define inventory control . ‘
meé?wﬂﬂmﬂww, WW_‘Q‘ s [16]
THEY | 9 . us channels of distributio™
. .\ Describe varo ' SR
c(a el e
(b) Explain the meaning of marketing environment. (41 R @ fafar ezl eihie (41
v & igcount an ’
Ao 9Iaraeer & aref ?quﬂgﬁl B D'fferentlate petween disco
Ok mmﬁmaﬁm\ -
_1 (3)

|
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UNIT -V
ghg - V

(a) What 18 Promotiop-Mix | ?  Discuss ip d
advantages of advertisement.

W—’ﬁwﬁmmﬂ%?ﬁamzﬁw;
T GRAT DI |

(b) Essentials of effective advertisement.

Tl gy @ siaedd A |

- 10. (a) Discuss qualities and functions of salesmen.
Rgaaatell @ Grgarg vd il BT quie iy
(b) Define personal selling. ‘
Safyas Ry B oReRig BIRTY |

9.
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C-247 - >
B. Conr Part 1) Examination, 2017 |
BUSINESS MANAGEMENT
First Paper
(Company Law)

Time allowed : Three hours

Maximum Marks - 100

This paper contains ten questions having twe
questions in each Unit. The candidates are
required to attempt five questions in all,
selecting at least one question from each Unit.
Each question contains Part (a) and Part (b).
Answer is to be restricted to the limit of five

pages for Part (a) and about 100 words for Part _
(b). All questions carry equal marks.

59 7o9F % 9 7o 23 12 &1 ydF A
7 gt o7 @9 w2 & whenlar @ g 5l
P TV g Jfard &/ udenefar @l ade
3P ¥ © vF g7 FT IFA¥ & AT &
TV [T FEIY & @7 &-He7 4 & 417 (@) U9
(b) &1 5% B AT (@) P FTETE 5T &
gV S THT 5 Yol H Yd 4T (b) &g
g FeH @ GOv STHT 100 T A
forerr &) G 7l & A G E

UNIT -1
garg — 1

1. (a) "A company is an artificial person created by law, having
a separate entity with a perpetual succession and a

‘c247 (1) - il i
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common seal." Discuss the above statement and-explain
the characteristics of a company. » [16]
e e P i & R FrEf B gw R
ST 8 U8 UR g¥d SiRda @ P 39 sifdfew
FTRIPER T & TN FHD! U6 AGGT 8l 8 " 39 B
P AT PG T TF HFA BT I A8 |

State main distinctions between private and .public

company. [4]

faslt vd ardsife &1 § 1 s qaTsy |

2. (a) Discuss the legal formalities that are required to be
compiled with under the Indian Companies Act, regarding

the formation of a company. [16]
ARG &1 AT & vid U R &1 R
% fog gt @1 S grell e sfiveRearnsl @l
faag=n HIRY |

(b) What do you mean by Promoter ? _ ' _ [4]

Ygd® | o9 9OT GRS & ?

UNIT-1I

o — 11

3. (a) Explain the importance of Memorandum of Association
in the life of a company. How does it différ from Articles
of Association ? “[8+8]

ordE T 9 eR M 8 7

(b) What do you mean by ‘Doctrine of Indoor Management'?' IE]]
saRE wow & foera 3 oY 31 e § ?
C-247 (2)

4. (a). What is Prospectus ? What are the consequences - of
misstatement or fraudulent statement in prospectus ? [4+12]

IR 1 & ? i F freamem a1 By R
@ 47 R By § 2
(b) W‘hat is the doctrine of constructive notice ? [4]

RIS a1 &1 Rigrg @ar € ?

UNIT - II1
ga1g — 111

5. (a) Distinguish between a member and a sharcholder and
explain the ways of acquiring membership of a company.
[8+8]
W 3R ST ¥ R qarsy 9l Uh A A
FERIAT TE0T P DY fAferdl FHesy |
(b) Distiriguish between shares and debentures. (4]
3797 U9 RUMS! H 3R qarsy |
6. (a) State the legal provisions as to borrowing powers of a
company and discuss the consequences of ultra vires
borrowings. ’ - [10+6]
T B WO W T D IR & wEH A Gl
[N qAEY @l SFIRNGA T W B @ gRoTHI

&Y fageT BN |
(b) Distinguish between transfer and transmission of
securities. . . [
wfenferl & 3T T IR F SRR qargy |
UNIT -1V
g — IV
i <ition of directors in a company. [16]
7. (a) Discuss the position Of CIIt
® FrA et B Rl @ g PITI
W (3) P.T.O.

C-247
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(b Under what cases the post of director becomes vacant ? [4]

8. (1)

(b)

(b)

10. (2)

(b)

ca aters o7 ue A el # Raw 8 S g rk

Which powers tribunal can exercise to prevent injustice

and mismanagement ? [16]

IR Il EE Jpa D ﬁq BT o
SIfETTRY T ST R e B 2

What is the maximum limit of managerial remuneration ? [4]

v qiRefeE &1 srftread A fhar g 7

UNIT -V

Sfﬁls‘ -V
What are the legal provisions for holding of annual
general meeting of a company ? [16]

wmﬁaﬁaﬁmwvmgaﬁzﬁﬁmw
I ARATY 8 7 |

Write a note on minutes of a meeting. [4]

1 & Brdga W fewell fafay |

Describe the circumstances under which a company can
compulsorily be wound up by the Tribunal. Also state the
consequences of a winding up order by the Tribunal [12 + 4]

"aﬁwwmwmﬁrmaﬁarﬁwﬁﬁ

gRRerfrat # fFar S 8 ST quie BT | v
ERT AU QY & FAal P TR | -

Differentiate between winding up and Dissolution of a

‘company. [4]

m‘rﬁfﬁwa‘mﬁﬂ'&rﬁmﬂﬂ qasy |
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1. (a) Throw light in brief on the main

C-207 .

C-207

H( om. (Part-I1) Examination, 2018

BUSINESS MANAG EMENT
First Paper
(Computer Law)

Time allowed : Three hours

Maximum Marics - 100

This paper contains ten question, having two
questions in each Unit, Candidaces are required o
aftempt five questions in all. sciecting al least oue
question frem each unit. Bach question coniaing
Part (a) and Part (b). Answer is to be restricted w
the iimit of five pages for Part (a) and about 100
words for Part (b). All questions carry cqual
marxs.
$9 THTS F o O o m E | ade TR
# ey ue Ry m #| gdenfidl B o T
& IR o9 & el @ gde g A @
o UI @7 JaN €A 2| SR AR WeR 9
>y Fouw § 8 9N (a) UG (b) &) W () B
YT P IO ATHI 5 Igtd’f #, T A (b) W
F1 T ST 100 WD # fawEr 81 W

m B 3 FHH 8 |
UNIT -

et 1

(1)

Scanned with CamScanner

types of a company.
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.

(b) Explain lifting or piercing the corpo i h ]
company. P B porate veil of 5 + (b) Discuss the conditions when a company can issue sweat

(4] equity shares (4]
B BT g&l IS AT I A6 Fy > '
@1 I By Th B GRT 4/ (W) wwan el &1 Friee & 3
2. (a) What are ?the promoter’s f[unctions with reference to 5 el BT Seerd A | .
company ?
' [16] i. (a) Distinguish b issi
: . ' . guis etween transfer and transmission of
Udh ! & e ¥ yade @ B gy § P shares. [16]
(b) Write the rules regarding preliminary contracts, [4] ST B SRR T ERE # orR R |
SINEE AT & Ty F et @y ey | (b) Write the characteristics of debentures. (4]
UNIT -11 R !
T - 11 UNIT -1V
3. (a) Dl;e-scribe the purpose and process of alteration of the e -1V
object clause. [16] 7. (a) Describe the provisions regarding appointment of
W Eﬂ'cm @ gaIeE g = aRacd @ ufisar @ .managing director. (16]
! : : yaw e § S aue fafad |
(b) Explain the relationship between Memorandum and (b) Write the disqualifications of managers. -4
Articles of Association. (4] "
N . : . gawd B sRirgan fefad |
© T TR @l forlRey | 8. (a) What do you mean by mismanagement of a company ?
s How a company can be prevented from this 2 [4+12]

(a) Explain the main provisions relating to registration and
1ssue of prospectus.

F H GEEE A AN T EE @ A B

[16] Eas!
. : | YR Ul O W § ?
T I IR | : (b) Who can apply to the Tribunal for prevention of
i an , mismanagement in a company ? (4]
(b) What is the ‘Golden rule® for framing prospectus. [4] FEO H GUS B ABAH %@ (o) R |
gﬁwﬁmﬁw@a'wﬁhﬁmwﬁ? P e P FH B ?
UNIT -1IT UNIT -V

W - I C -V

5. (@) I}xplain the different types of shares. [y 9 @ Describe the legal provisions relating to meeting. {16}
TR YR % sivi a1 v AR T TR SR W e | ‘
CHE: 5 (2) c-207 (3) % RS
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o

(b) What are the requisites of a valid meeting, Iy,

UH e a1 @ afdre wqor g § 7 "

10. (a) Describe briefly the different modes of winding up of,
company. [16,°

BFIHAT B IPAT B QAR BT Gl qufs PHISTU |

(b) Discuss the consequences of voluntar
company.

Wa%?%f%@?swwa%vﬁmm%rﬁz{ﬁl

y winding up of a
[4]
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C-246
B. Com. (Part IT) Examination, 2017

ECONOMIC ADMINISTRATION AND FINANCIAL
MANAGEMENT

First Paper

Financial Management

Time allowed : Three hours

Maximum Marks : 100

This paper contains ten questions having two
questions in each Unit. The candidates are required
to attempt five questions in all, selecting at least
one question from each unit. Each quesﬁon
contains Part (a) and Part (b). Answer is to be
restricted to the limit of five pages for Part (a) and
about 100 words for Part (b) All questions carry

~equal marks.

s U U9 7 &9y A W B uae
sHE ¥ o 99 A T & | WEiE o1 g
TgAl & Sux odl & Wl @ nade
o 4 9 TP W @1 SR oAl IEd g
IR 9 9BR 9 <1 0% ¥ S 9 (a) W@
(&) AT & FF B AT (a) D Frarene v
& IR T 5 UR[ H UG HFT (b) @Y
ITNTAS W99 DI SR T 100 Tl A
R &1 @ 91 B e T £
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UNIT -
go1g — 1 .

1. (a) "Finance is the life blood of industry." Elucidate th#
statement with suitable illustrations. [16]
R SEm @1 S vaw ¥ g wem A Swgw
STTET Wfed e AR |

(b) What is owner's equity ? [4]
e o @1 @@ ey § 2
2. (a) Prepare Balance Sheet from the following data : [16]
frr=feRea el 9 figr Tar @R -
(1) Current Ratio 1.4
dlef, ArFaTd
(ii) Liquid Ratio ' 1.0
TRl U
(iii) Stock turn over Ratio (based on cost of sales) 8
TH ad TUTa (fasha Y Pra R 3mena)
(iv) Gross Profit Ratio 20%
el ot IFUId
(v) Debt Collection Period 1.5 months
O age BT 9T
(vi) Reserve and Surplus to capital 0.6

(vii) Fixed Assets Turnover (based on cost of goods sold) 1.6
il aREART e (Aret fasg &1 i ) SEIRa)

{viii) Capital Gearing Ratio 2.0
it iR srgam :
(ix) Fixed Assets to Net worth : 1.25
Iy alREaaRl F goref gwafy
€246 ( (2)

“\\ - e CATISWLL SHVWU dve s =TT T :

(x) Sales for the year Rs. 10,00,000
o B fazk
There is no preference share capital
iR o e T 2
(b) What is finance function ? (4
foa @ % @ i € 7

UNIT-1I
gars — 1l

3. (a) Whatis funds flow statement and why is it prepared ?
aﬁqmﬁawm%amugadimm%?

[8+8]

(b) What is meant by cash equivalent 2 4]

e gl T A T ?

Prepare cash flow statement by indirect method as per

owing summarised Balance
(6]

4. (a)
AS-3 (Revised) from the foll

sheets :

;ﬁammmﬁg‘i%wﬂaﬁ@éa@iﬁ
-3 () @ SFgRR s HarE SRS -

5 4
Liabilities 31.3.2014 31.3.2015 | Assets 31.3.201 m
<any TRy
i 40,000 50,000 Fixed Assets 69,000 61,000
(3)
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60,000 Less- 6,000 7,000
Depreciation
EiE§} wY .
9
m —
46,000 63,000 54099
\\
5,0001 Stock 40,000 50,000
wiw
P & L| 10,000{ 12,000|Debtors 30,000 50,000
Account TTER
GICICEIT)
ECIn]
Creditors 9,000 8,000|Cash 20,000 30,200
TER EE
Provision for 2,000 5,000 | Prepaid 5,000 6,000
l Taxation Expenses
SbiAN qded @
EizEis
' Proposed 4,000/ 4,200
( Dividend
it
,? | 1,58,000{ 1,90,200

1.58,000 1,90,200
— 1 100,000} 1,90.2(

Tex and Dividend 0f2013-14 have been paid in 2014-15. |
7 2013-14 =7 7% Ud TImle 2014-15 ¥ gebrar T Bl

(b}

What is meant by

: . n9
"Funds from Operations" ?

'ﬁa’m#xaﬁu‘mmmm??

(4)

“l

5 @ Define 5 §

6.

UNIT - 1y
B - 111

nancial plan apg explain the

characteristics of
asound financjy plan.

[6+10]
AT FY fadramai @y SRy T el
(b) State the meaning of Net Working Capital. [4]

(a) Fixed cost Rs.

(b)

s

& PIENT Gft a7 apef qaEy |

15.000: variable cost
selling price Rs. 8 per unit.

Rs. 5 per unit:.
[4+4 +4+4]

From the above particulars calculate :

(i) Break-even point in units and rupees.
- R gl vd ot

(ii) Sales volume for a planned profit of Rs, 45,000
45,00 %. & AR amy &q fawa amar

(iii)Break-even point when selling price is increased by
25%

W—ﬁi@?ﬁﬁmﬁmﬁwﬁﬁ%qﬁ@fﬁﬁl
(iv)Break even point when fixed cost is increased by 20%
and variable cost is reduced by 20%. [4]

mﬁz@aﬁgmﬁmmzo%%aamw
IR @ 20% ¥ T o)
If P/v Ratio is 30%, find out the margin of safety at a
profit of Rs. 60,000. [
A ™ A AU 30% B AT 60,000 T, FH TR G

A 3 BT

(5) P.T.O
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UNIT - IV
EFE — 1V

7. (a) What do you understand by Reccivables Management ?
Explain its objectives.

&g i 5% a2 w100 % @l 5,000, 7% OO
@ﬁﬁaﬁmlﬁvﬁmﬁaﬁmz%?lmmm
qSll @ @FTa @ Brfl, afE @y @) &% 60% & ?

[8+8]
‘ gt @ waeE AT R G € ? 3Ha Sadedt Al T
e BT | -V
i L ‘ gHT8 — V
(b) Explain cost of capital. 4] | -
q_%\. T @ e FRTT 9. (a) Bharadwaj Ltd. is considering investing in a project
. requiring a capital outlay of Rs. 2,00,000. Forecasted
I . A. annua! income after depreciation but before tax is as
8. (a) Two components Xand Y are consumed as follows .4 o ‘ follows - e
d+4+4+ '
. . | wrRers faft. 200,000 % @ G @a @ w
& FrE X e Y @1 STHFT fre TeR W e s aRETeET H fAFEeT ® AR w @ &) e g
Normal usage — 100 units per week each : & PR q;f YaigATa aiffe g 59 uaR # ¢
i Minimum usage  — 50 units per week each ’2 Year 1 2 3 4 5
Aaxin se  — 150 units per week each I
Ma.\ngqu usa:‘?t ;4&;‘;}155_ Y-600 units ] Income (Rs) | 1.60,000 | 1,00.000 | 80,000 | 80,000 | 40,000
p Re-order Quantity — A~ R
: Re-order Period ~ — X-6 to 8 weeks; Y-3 10 5 weeks Depreciation may be taken as 20% on original cost of the
’ i 0, ) 5 ae
; Calculate for each component : z]i%soci: and taxation at 50% of net income. Cost of capital is
e} yee wrdl @ ferg o B i
- (i) Re-order Level (q: a&® ®R) B PO GERT B aa%av]’cr :; 20% W agv
— b S 0/ N1 )
(ii) Minimum Level ([7c W) B 50% R form o woar €1 49 9 od 10% 21
- (iif)Maximum Level (31fererad wR) Yov.ll1 ar;: lrlequjrcc.l to Iv.;l\'u(}uajtc the project according to each
(iv)Average Stock Level (Sﬂﬂﬁ widh wR) 0 of the following methods : o »
: 10 o m—
{b) Vaibhav Ltd. issued 5.000, 7% debenf‘ur;i/(’fwizt will'.;‘ féfﬁfﬁ e faftral 31 oRAFT &1 e
each at 5% di _The cost of issue 1S £7¢- b : . 4
be the af] : [%C? i ital, if tax rate 13 60% ? [4]_2 (i) Pay back period method (arererl Srafer farfer)
¢ the afler tax cost of debt captial f 3 6l < RR)
| (ii) Average rate of return method (@ERT FAX
2 . (iii)Net present value method (g& T Tl faen)

C-246 (6) i C-246

P.T.0
(7)
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(aricIRe TeT =R fafey)
(b) What1s Conservative dividend policy 9

FHFAR AT AT g7 & 2 | -l

10. (a) What is meant by dividend pol;

business enterprise.
alﬂl'ﬁlﬁf%ﬁwmm%?w
N gg T AR B mafie o
e R | T W

(b) What is capital rationing ?

ot et @r & ? =
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C-205

B.Com. (Part-1T) Examination, 2018

ECONOMIC ADMINISTRATION AND FINANCIAL
MANAGEMENT

First Paper
(Financial Management)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions, having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
-at least one question from each Unit. Each
question contains Part (a) and (b). Answer is to be
restricted to the limit of five pages for Part (a) and
about 100 words for Part (b). All questions carry
equal marks,

5 UeE UF ¥ g9 we ¥ U Shls H o
1 U R 1 2| el & dg gl &
FR A & | Wit B ude ghE ¥ 9w
g3 &I SR o1 IIfad 8| SR e ueR
J T8 — U H & W (a) T (b) 91T &
U3 B YN (a) d Feid U9 b SN
ST 5 GBI H Td W (b) B TY-SRRIHD
gy &7 SOR T 100 Vi A forar @
I Ul b 3fF T B |

UNIT -1

b — I

1. (a) What do you mean by ‘Analysis of Financial

Statements’? Explain its objectives. [8+8]

frérg ARl & Rigewer § o @@r He § 7 39D
IRl & aue B

C-205 (1) P.T.O.
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2.

(b)

(a)

(GIVE Luus v

Wﬁaﬁmﬁﬁmﬁ‘ml

Prepare 2 projected Balance Sheet on the basis of the

following information :

Estimated Revenue from operations

Revenue from operations to Net worth

Total debt to Net worth

Current liabilities to Net worth

Current ratio

Revenue from operations to inventory

Average collection period
(Assume 360 daysinay
Fixed Assets to Net worth

Assume all revenue from operations as credit.

ear)

4,50,000
2.5 times

65%
25%
3.6

5 times

36

days

75%
[16]

ﬁmﬁq’ﬁaﬁwﬁwwwﬁﬁﬁwwmﬁ:
%4,50,000

FaTe § A rered

3z gof @ farg aRaTE | ORI

¥z 3 & foay g &7

3o o @ forg oA SeaTRal

(@ ¥ 360 fa= A1 )

P

= 7 & fou fres TEcd
ufiEe ¥ 9RE JFH SUR

(by If = opening inventory
74,84.000; revenue from operations 6,40,000 an
* of gross profit on revenue from operations 15

L eans

{2¥

R AT |
is  ¥58,000;

2.5

5

36 days

purchaSeS
d rat .
25%. .

times
65%
25%
3.6

times

75%

'Tuat wil pe mventory turnover rati i
‘ i atio and 1inventory
velocity ? nt

: o [4]
e gRfras i 58,0005, 7 4,84,000%, ORRETe= ¥

3T 6,40,000%. TAT Hehet ‘
40, . E mﬁﬂqﬁT =
W 25 yferer @ ar e F T

1 B 5 Wﬂmmﬁamwmnfd
UNIT -11I
s — 11
3. (a) From the following Balance Sheet of Alpha Ltd
prepare statement of changes in working capital an'ci
funds flow statement :
Balance Sheet
Particulars INote No. | 31-03-2017 | 31-03-2016
I. EQUITY AND LIABILITIES 4 4
(1) Shareholder’s funds
(a) Share capital 2.50,000 2,00,000
(b) Reserves and surplus 1 90,600 80,500
(2) Non-current liabilities
(a) Long-term Borrowings:
Bank Loan - 70,000
(3) Current Liabilities ' ,
(a) Trade payables 1,35,200 1,50,000 .
(b) Short-term provisions : .
Provision for taxation 35,000 30,000
Total 5,10,800 5,30,500
II. ASSETS
(1) Non-current Assets
(a) Fixed Assets
Tangible 2 3,59,000 3,50,000
Intangible : Goodwill 5,000 -
(2) Current Assets
(a) Inventory - 74,000 100,000
(b) Trade Receivables - 64,000 S0
(c) Cash & Cash Equivalents | 880 | 50
Total 5,10,800 5,30,500
C205 (3) . ' P.T.O.
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~ Notesto A ccounts : ' |

~particulars 31-03-2017 | 31-03-2016
—
(1)  Reserve and surplus

General Reserve 60,000 50,000
Profit & Loss Account 30,600 30,500
Total 90,600 80,500

2) Fixed Tangible Assets
Land & Buildings 1,90,000 2,00,000
Plant & Machinery 1,69,000 1,50,000
Total 3,59,000 3,50,000

During the year ended on 31% March, 2017
(i) Interim dividend of ¥23.000 was paid.

(i) Assets of another company Were purchased for a
consideration of ¥50,000 payable in shares.
Assets purchased were :

Inventory ¥20,000; Machinery ¥25,000

(iii) Machinery was purchased for ¥ 8,000
(iv) Net profit for the year 2016-17 was 366,100

(v) Depreciation written off:
Building ¥10,000; Machinery ¥14.000

(vi) Income tax paid during the year 2016-17 was
728.000. Provision for tax 33,000 was made in

the profit & loss account. [16]

o s & PR fieel 3w o0
uf¥ad= 1 faaeer qen 9 yars fdever 991y ¢

e qd9 gfie
AN e
F.| 31.03.2017 | 31.03.2016
I gfqadt ofit 2y .
4
(1) Ruws ffy N
(a) T YR
: ; 2,50,0
(b) Rord aiv arferdtg 1 90 sgz oo
@ o & . ) 80,500
(a) dre@rfers SuR
dF R - 70,C00
(3) wdwr TeRat '
(a) @R qIRET 1,35,200 150,000
(b) 3IreuTafy w@E -
FREE B o wrau 35,000 30,000
e B 5,10,800 5,30,500
(1) = woET FuR
(a) Irad |qHIRT
qredfa® 2 3,59,000 3,50,000
arqd « 9™ 5,000 -
(2) TdvTE Hufdy
(a) g 74,000 1,00,000
(b) @UR uTd 64,000 80,000
(c) 7g 3R THE FAIH 8,800 500
gal | 5,10,800 5,30,500000
gl 3 g ¢
faraxen 31.03.2017 | 31.03.2016
(1) Rerd 3R srfeRT
NEEG 60,000 50,000
RIS ER IR CI 30,600 30,500
F 90,600 80,000
() eI aEIfD <uferat
ARG 1,90,000 2.00,000
e iR A 169000 | 150090
. e dREE
7 359,000 | 350000
.T.O.
C-205 (5) RT
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(b)

4. (a)
(b)
C-205

31 HTE 2017 B FATC BT diet 49 4
(i) 23,000%. B SIRA AT BT T ‘
(i) 50,0005, & WRIh B T T P

@S TS [t :

g=dexy 20,000%.; HIRT 25,000
(i) 7= @& ¥ 8,000, H
(iv) ¥ 2016—17 &1 Yg ¥ 66,100%. oI |
(v) T mfeRad faar

W= 10,000%.; FEN-NI 14,000%.

(vi) T8 2016—17 ¥ 28,000%. A & FbrEAT T,

AWM Wrd ¥ 33,0005, B BT GrguTE R

|

Name the types of cash flows.

e Ydel & YBRI & A 9] |

(4]

What is cash flow statement ? Discuss its main uses and

limitations.

il &1 guie HIeTY |

[6+5+5]
Jes yaE faRer @ ¥ ? IHe W™ Sudi Tl

Caleulate funds from operations from the following

information :

Closing balance of statement of Profit & Loss

72.00.000: Depreciation ¥20.000;

Non-operating

expenses and losses written off 760,000; Non-operating
. income %40.000; Opening surplus of statement of Profit

& Loss 360,000.
Foriffiae @ @ URETe B @ o BIR :

(6)

[4]

C-205

™ :
‘ & ﬁTﬂ‘\’W B IR AT 2,00,000%. : BN 20,000%.;
T RoRaem am w efyi

60,000%;
R aReer g 40000%; oM B faaver @1 gRMS
ST 60,000%.

UNIT - 111

R — 1l
On I

e glamla.ry. 2017 the Board of Directors of Supreme
ite desire to know the amount of working capital
that will be required to meet the programme they have
planned for the year. From the following infor;nation
prepare an estimate of working capital requirements.

Production during the year 2016 was 60,000 units and it
1s proposed to maintain the same during 2017. The
expected ratio of cost to selling price is :

Raw material 60%, Direct wage 10%, Overheads 20%

Following further information are available :

(i) Raw materials are expected to remain in siores on
an average for two months before issuc to
production. v

(ii) Each unit of production is expected to be in

process for one month.

(iii) Finished goods will stay in the warehouse

awaiting dispatch to customers for approximately

three months.

Credit allowed b)} creditors for two months from
the date of delivery of raw materials.

(iv)

Credit given to debtors for three months from the
date of dispatch.

™)

(vi) Selling price is T5 per unit.
There is regular production and sale cycle ax;d
wages and overhcads accrue evenly. [16]
P.T.O.

(7)
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fafics &1 Farcid Avsd gy
oS I GO
k|

1 S, 2017 B GIA
& PR orma o T :
prffe o @ afy S @ €1 g
Frfefet Qofl r A AR PIT |

ﬂﬁaefzmsﬁwmeo,ooomﬁ%ﬁamagm
%ﬁﬁzowﬁﬂﬁgﬁsﬁmwwmlmm

ﬁmwﬁ@ﬁaﬁwwm%:
P | — 6o R WRUE AT — 10 MR
araRera — 20 g

(iii)uﬁaﬁﬁﬁﬂéﬂﬁﬁmﬁﬁﬁﬁwwﬁ[

ST A ATE e

aﬁﬁmaﬁggéﬂﬁaﬁ%ﬁﬁéﬂzﬁmﬁ

a1 @ SuR whad @ o €

) Wﬁ%ﬁ%éﬁaﬁfﬁfﬁﬂmaﬁw?ﬁ
ST ® |

(vi) W:fqgﬁgzm%v?%l

mﬁaﬁﬁ%ﬁaﬁﬁm@@_ﬁm%am

W@mﬁmwa@aﬁiﬂmm

(iv)

‘ ibg ' 000 with sales at
A company has fixed expenses 390, -
?3.00.0%0 and a profit of ¥60,000. Calculate margm[?ﬂf
safety. _
g @EE DI 3,00,000%. & R T 60,000%. B EI;ITq
oz Rere @ 90,0005, & | GRam A B U HITY

(8)

" 6. (@ Explain the meaning of finane;

. "descri . : al forecasting and
b ibe the techniques used in fina

ncial forecasting.
[7+9]

’ laiuwfﬁfaﬁm

; Hﬁﬁfﬁ?ﬁfﬁrﬂ'ﬁ?ﬁfﬁm O e, e
; (b) Name four. factors det?rmining working capital. [4]
mao‘rﬁsﬂal T 31 FrifRa w3 a0 W) gew @ am

UNIT -1V

FE — IV

7. (a) The following is the capital structure of S.K. Limited -

Sources of Funds

Amount After Tax
®) Cost of capital %)

Equity share capital

(1,00,000 shares of 10 each) | 10.00.000 11%
Preference share capital

(25,000 shares of ¥10 each) 2,50.000 8%
Retained Earnings 5.00,000 11%

9% debentures 7.50.000 4.5%

Presently, the debentures are being traded at 94% preference
shares at par and equity shares at ¥13.50 per share.

Find out the weighted average cost of capital based on market
value weights. [16]

T, . ffics @) goll TR 39 FOR §-

it a1 a W @) | oA Q)
MEERISE R ] o
(10 %. yA% @ 1,00,000 AR) | 10,00,000 11%
TrFAr AR Yol .
(10 %. yars @ 25,000 IA) | 250,000 h
SfenRa e 5,00,000 11%
9 wferer fed=R 750,000 J/L'TT)_
| 700000 |

P.T.O.

C-205 A (9)
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(by Explain marginal cost of capital.

Wﬁwmmwmwm,wﬁ
AT Si%T 13.50%. Uiy o TR I el €| '
QIR A WRY @ R TR gl B ARA SR S
Ter @

(b) A group of new customers Wwith 10% risk of non-

(a)

payment desires to establish business connection with

you. This group would require 1.5 month of credit and
is likely to increase your sales by Rs.1,20.000 p.a. Co§t
of sales amounted to 80% of sales. Income tax rate is
50%. _

Should you accept the offer if the required rate of
return is 40% (after tax) ? [4]

&1 gl @Al & g8 W 15 AIE _
aﬁ?gﬂéaﬂﬂaﬁﬁﬁuzopooama@ﬁaﬁm

%lﬁﬂ%mﬁﬁaﬁaﬁmqﬁwﬁlmaﬂaﬁﬁm
gfrerd &1

a}%mzﬁmﬁaﬁr@ﬁwamms‘r?ﬁw
3T o9 URATd BT AR B |

Describe the objectives of inventory managemen't.
Discuss the factors determining the investment In
inventory. [8+8]
==ied vawM @ Seedl @1 qud i | g<ieq #
BT |

[4]

(10)

1 9. (3 The m

T UNIT-y

TR~V

anage
two prOpofal?e’?L of MahC_Sh Ltd. must decide between
- 'he following information is available :

EESIGHR:
T S & W fofg avar 2

Net Cash inflows (7e J@e TaTE)

proposals | Investment Now l_m Year 2 Year 3
§ e T 31 frder qq 1 ai2 | a3
A 780,000 95,400 39,000 12.000
B 31,00,000 35,000 57,500 80,000

BAGREFR ST L e o e

C-205
I -

Assuming that the company can earn 12% on projects
of this type and that the inflows are received at the end
of each year, advise the management regarding the
proposal that should be selected. Submit computation
of Net Present Values and Profitability Index. Ignore
Income tax.

Given at 12% Present value of Re.l receivable at the
end of :

Year 1 2 3

Net Present Value (Rs.) 0.893 | 0.797 | 0.712
[t6]

TE A T b B 39 TR Bl ARIE R 12

gfrer s I} ad & 9 b IaiE e a9
& aig F g & 2| ey @ 99 fFY 9 arel T
& gy § gaE ARA| g€ @AM e o
Wwaﬁmaﬁﬁimmmﬁwﬁ
¥ &Y 7@ 8 | , (

a8 @ g F @ 1 T, G 12 Fiewd TG I e
fogr mar B :

(11) P.T.0.
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& T Yoy (v) 0893 | 0797 | 0.712

e T R S U .

ay 1 g 3

(b) The Super Company, which earns 5 per share is

10. (a)

(b) A project costs I18,000. The estimated annual cash
inflows during its 3 year life are 8,000, 7,000 and
<6,000 respectively. Find out payback period.

c.:;:}l:ilz»\l_ixgd at 10% and has a return on investment of
l.; ./0’. ‘Usmg Walter’s dividend policy model, determine:
(1) The optimum payout

| (i) The price of share at this bayout. [4]

R PR ST 5%, Uy sfer eroie @Rl 8, @7 10 i
W GSNeR P m ® iR R W wema 12
IR B | aTeey & orier N ufeme @1 SwinT 3
RS IGECHINLE

(1) FTJRHeldq I 31U

(ii) 9 IO W i {2 oI

Explain the term ‘Dividend Policy’ and critically
examine the essentials of a sound dividend policy.

[6+10]
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C - 248

B. Com. (Pﬁrt IT) Examin’ation, 2017

ACCOUNTANCY AND BUSINESS STATISTICS

Second Paper
(Cost Accounting)

Time allowed : Three hours

Maximulh Marks 100

Attempt five questions in all, selecting at least
one question from each Unit. All questions carry
equal marks. Each question contains Part (a)
and Part (b). Answer is restricted to the limit of
five pages approximately for Part (a) and about

; 100 words for Part (b).

TRFE FHE §  FEEFT [ JIT BT GaT
| Fva gV [Fg gig ge @ Iav oy FH

g7t & i@ GHIT &) JF 7 4 5 41T (@)

g (b) &1 91T (a) &7 G FTHT S YOI T 41T

(b) BT Y TTHT 100 F1 4 &7 =ev/

" UNIT-1I
g — I
1. (a) What is meant by Cost Accounting ? Explain briefly the
objects and advantages of Cost Accounting. . [8+8]
T REE A T AW & ? A oA @
9e3vd Td il Bl e o B
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(b) From the following data, ascertaiﬁ the ¢q

T it and the minimum
materials con d for I v St of dj; The annual holding cost is Rs. 0.25. per unit and s for the
sume. g . ' o TYirec co:
| or 1,000 units of an article . stock level is set at 400 units. Direct labour g
. " g components are Rs, 6 per unit The compi;nied at a rate of
1. Opening stock of raw materials - machine on which the components are pReke
, 35,0
2. Closing stock of raw materials ( Rs. 200 per month.l ent? [16]
3. Purchases of raw materi ki Should the company make 0 SPUPE o omg .
materials 5 forely @ BT forfor AR
y 2,50 T FHA i TR .
4. Purchases of speci ; : il “qﬂmm
pecial materials f - wa B
o § for primary packing 1,00 Pl Wamiﬁ'ﬁ‘:ﬁ'? g3 - o gTE amgfef FHaM |
- rurchases of consumable stores viz oj] grease, coti @ T W g gl a1
waste, etc. ' , > Stion ‘ ararard v /e Al am A B gﬁl Y g8
5,00( mwmmﬁﬁmm%‘gﬁ
_ [4 e T AT 2,000 T @ o :;T:g'q_\:ﬁﬂ 20,000
IR T N T w1000 g ¢ P 4w @ e o 10 T D D
ST T Y AR " @ @ 25 O ,
T oy - U o ) A _
: off A
L. B A9 &7 IRAE @i ¢ gwmﬁma“'“”“ﬁ ng i
-~ 35,000 | mﬁqmm'vﬁ?ﬁmﬁm? [
2. T A1 FT Sifaw w &Nt & W o
2y . 490, 200 . FifdT FE AX BN e ?
3. T S B e 52,500 e g 7 AT AT oany- froim the
S . - . B f a company 1Ir ]
4. TG 9T & forw e Aare 9 ECRICH 1,500 (b) Calculate labour Turnover Ratt::1 Zoimem_- i .
5. STHRT HeR YT & : ' ation given for a yearan :
R S T, AN, 5T FIT e ) wdie 5,000 I;nforéﬂworkers at the beginning of the year 155
. No.o
2, :.2) A com anv i ider hi I T . ! t(he end ofthe yeaI 185
c '..p ¥ is considering the possibility of purchasing from a 2. No. of workers 2 20
’:‘uppuer of component it now makes. The supplier will provide 3. No. of workers resigned ; b‘)
::c component in the necessary quantities at a unit price of 4. No. of workers discharged £ ’1;
5. 9. Transportation and storage costs would be negligible. ' £ workers replaced due 10 quits and §1schmge ;
e fcimffi”}‘ produces the component from a ‘single raw > No,C". nal workers employed o ;
material which is acquired in economic lots 0f 2,000 units at a 6. Additio >[2‘ +1+1] A
€05t 6 Rs. 2 per unit. Average annual dermand is 20,000 units.

PT.O.
) (3) o
€245
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UNIT - 1I
garg —1II

(a) A manufacturing company uses two identical large and

four identical small machines. Each large machine

occupies one quarter of the workshop and employs fully!

three workers. Each small machine occupies half the . .

space of a large machine and employs fully two workers. ,
The workers are paid by piece work. Each machine is
estimated to work 1,440 hours per year. The effective

working life is taken as 12,000 hours for each large

machine and 9,000 hours for each small machine. Large

machine costs Rs. 2,00,000 each and small machine

Rs. 40,000 each, scrap values are Rs. 40,000 and Rs.

1,000 respectively. Repairs,~ maintenance and oil are

estimated to cost for each large machine Rs. 40,000 and
each small machine Rs. 12,000 during its effective life.
Power consumption COStS Rs. 5.00 per unit and amount

for a large machine 2 units per hour and for a small

machine one unit per hour. The manager is paid Rs. C-248

(4)

Rent and Rates of workshop

Lighting

48,000 a year and workshop supervision occupies half of
his time, which is divided equally over the six machines.

+ Details of other expenses are :

Rs. 64,000 a year

Rs. 18,200 a year

(to be apportioned in the ratio of workers

employed)

(8 +8)

Taking a period of three months as basis, calculate the

~ machine hour rate for 2 large machine and small machine

respectively. /

wﬁnﬁﬁmﬁa‘rwmaﬁa@wmw
maﬁm—ammmm%‘ma@w

aﬁﬁﬁﬁlq@?ﬁ@anﬁﬂa@m%mw
maamammm%|mﬁmw

mm%lmﬂsﬁﬁaﬁﬁmﬂﬂ: 1,440
auéa;rﬁma’r%,m@sma@mﬁﬁmmﬁﬁ
mﬂmﬁﬂp%ﬁ@%mﬁﬁm%@ﬁ%\

Wﬁmmﬂwﬁﬂmmmﬁm
;raizﬁmamﬂﬁquz,oow.%\qmwmﬁm
5. 5.00uﬁfqﬁ€%awma€lqeﬂazqﬁea
s Bl w1 e uﬁaﬂawmﬂamﬂ%\
maﬂs,oooamﬁasmﬁmﬁmm%am

(5) P.T.O.
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SHST ST G PR b T ¥ oy g A

TR 6 FAAT R AR fRaRa wer ]| oy T G B S @ 2,000 T, ¥ FREF IuRE

e~ 9 R 2 T AT B 25% W aqe fd o €| [@E g B 5,000
- ’ - ' ¥ | Frfafen uRad=eie e vd faxor am 5w e
HrfeTET 53
[ 3 R % 6000afE | | T
Tl .

- 3. 18,200 a1fifes S Rs. 20
(e srparer st A1 e @ il Rs. 50
AU § HIT ) : CLINE ' Rs. 500

& A B . AfpT T ‘ Rs. 80
S i o e e @ @ i A R fagl T FAer SR 28,000
X I o o g af @ oG RE 1,12,000 T o) ReR

W@Waﬁﬁﬁmq@mm&ﬁwmaﬁ
e R SR § R gU ST 36 d¥g @ Stk
ST T SR ST S B

(b) The prime cost of a f:ertain article is Rs. 2,000. Works |
overhead are to be charged at 25% of prime cost. The
selling price is Rs. 5,000. The following variable selling
and distribution expenses were incurred : ' ‘

| 4. (a) Following information has been extracted from the records

| Freight g , Rs. 200

Cartage == - - of Jai Industries producing one hundred standard product

= - RE.201 ! which relates to the year ended 31st March 2015 :
Insurance Rs. 50 _ )
) . : Direct wages incurred Rs.1.,00,000
Commission . Rs. 500 ) :

. § . Convertible material Rs. 60,000
Packing expenses Rs. 80 ,

. 3 Fixed overhead Rs. 30,000
The estimated fixed selling and distribution overhead for Variable overheads Rs. 20,000

the year were Rs. 28,000 and the estimated value of sales
for the year was Rs. 1,12,000. You are asked to ascertain
the final cost and estimated profit of this article using the

method of percentage on sale value to absorb fixed selling
[2+2] : workers ; :

e (iii) Material price will be decreased by 5% ;

It is expected that during the year 2015-16:

(i) Output will be raised by employing 50% more workers ;

(ii) Overall efficiency will fall by 10% because of new

and distribution expenses.

C-248 (1) - P.T.O.
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workers ;

(v) Fixed expenses will increase by 20%

Ascertain the selling price of the output for the year 20 5.1
. ; : =016
assuming that there will be no_opening and closing stocy of

any type to eam a profit of 16—;—% on selling price. [16)

mm@amwmmaﬁmwmm
g1 31 99 2015 B TG BN I a¥
FTaRTE Em 99 & Sfferal § IuereT Y ¥

FOE A9gyl g% Rs.1,00,000
| TREc=E |\ Rs. 60,000
| Rer iR = Rs. 30,000
gRed] SOk =4 Rs. 20,000

2013-16 ® Toi¢ 7= 9=a9N € ¢
@) 30% @ sfae! @ Fgfed grT Sared 7 gig @

(i) TET B ot ¥ 5 ke | S e
v} TRedeTIE SuREd sl @ wen @ A A

..
I

(b) Define over absorption and under absorption of
overhead. [2+2]

SRS & SR qo <grraeieer @ uRafa Hif |

UNIT - 11T
g — 111

(a) Mr. Kamal commenced a contract on 1st January 2015.
Total contract price was Rs. 5 lakhs (estimated by

* contractor) but Mr. Kamal agreed to work at 10% less
actuals for the year 2015 and estimates for the year 2016

are given below :

2015 (Actual) 2016 (Estimate)
Material issued 1,75,000 30,000
Labour paid 90,000 20,000
Labour accrued 10,000 -
Plant Issued 1,00,000 -
Expenses 40,000 5,000
Materials at site 10,000 -
Work certified 4,00,000 = —| Full
Work uncertified 15,000 -
Cash received 3,00,000 Full
Plant returned (original cost) | 30,000 70,000
(On 31.12.2015) | (On 30.9.2016)

Depreciate plant @ 20%

per annum on its written down

value. Contract is likely to be completed on 30th September
2016. Prepare contract account and state as to how much

C-248

(9)
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profit should be credited to the profit and loss account of the

contractor for the year ending 31st December, 2015. (10 + 6) j (b) Prepare abnormal effectives account from the following :
. @Al ¥ 1 SFE 2015 B Uh OB W EIrc ST Transfer from I process 1,000 units @ Rs. 9 per unit.
fera | gl SHT e T 5 A (P ERT Eﬂjmﬁﬁ) A | # Material used Rs. 13,000 Labour Rs. 3,750 overhead
o foeg . BA J 10% T Iod R G HRAT o - (factory) Rs. 1,500 Actual output 920 units Normal loss
frar) 2015 9§ & IRARASE 3P AT 2016 9§ B T ' 10% of input sold at Rs. 2.50 per unit. [4]
et 9 fev v - freforRaa famoll 9 s g=a @@ TOR BT :
~ 2015 (arfd® | 2016 (aqjmﬁma)' ORI TR 1,000 e R 9 T, Wy gfe T AR
et Bt 1.75.000 10000 ° L A SR @1 13,000 . 9H @d 3,750 B SUReE
— - (BREM) 1,500 . aRafiE Seared 920 Yfie WH el
%4 BT A * 190,000 20,000 . - 10% g79e fdaT &% 2.50 %. ufd gfe| ’
57 ST 10,000 = o
: < 6. (a) Write short notes on the following : [4+4+4+4]
wie fid 1,00,000 - :

(i) Valuation of wastage

g 40,000 5,000
(ii) Reverse cost method
FARIA W A 10,000 -
(iii) Provision for unrealised profit on stocks
—~ D '
B Prd FATO 4.00,000 - Full ‘ (iv) Joint product and by-protluct
FTE AT 15,000 - .
FTE STHAT : ﬁﬂ%{f@a\wmmmi
G%c W 3,00,000 - Full ) .
; () &a o1 B
| & 2
! =ic 99l ([@Rdld® @Hd) | 30,000 70,009 , (i) faeim = fafey
‘ (On31.12.2015) | (On 30.9:2016) (ifj) Wi R 7 T Y g A B Ry oo
T 3 3Ofe gR:[ » T
an-?mfﬁa@wzo%aﬁa?ﬂ@‘i@m e (w)ﬂgﬂﬁwm"fm
FET| 3% @ 30 R, 2016 @ g N .
TRTEal 21 2 Gk . : : ;
AR 1 S TR R HIRY SR I i (b) Contract price is Rs. 80,000, certified work is Rs. 64,000 *
’ﬁ' il in OShls @ wm-git @ # 31 and National Profit is Rs. 25,000. 80% of the certified
2015 =1 FrE B9 919 a9 @ fore sfee fear N work has been received in cash. In this situation calculate
C-248 (10) C-248 (11) - P.T.0.
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Loss Accounts.

ang
4]
ot 3% a1 Rerfar # ST ed 80,000 . &, TR a5
64,000 . TAT AAT T 25,000 . & | AR Brf o5
§0% e el & T & | O Rl # ety gy
Sfee fpd M are @M & FERT @Ry

UNIT -1V
gaTs — IV s

7. (a) Calculate labour variances from the following data :
Standard
Number in the gang : 40 men and 20 women

Wage Rate per hour : Rs. 0.90 for man and Rs. 0.80 for

woman
Output per gang hour': 50 units
Gang hours in a five day week : 40
Actual
Number in the gang : 32 men and 28 women
Wage Rate per hour : Rs. 1 for man and Rs. 0.50 for
woman
Actual gang hours paid for : 40
Actual gang hours worked : 39
Abnormal Idle time : One gang hour

Actual output : 2,400 units [8+4+4]

C-248 (12)

Pt sttt W s fraott o1 o A -
A g

1 3 40 gow T 20 Ay -

wGY Wi Her ;90 4 et @ g @A 80 W
Afeait & forg

ufey 3 Her Ieure ¢ 50 gfe

H1 Y5 A B T B fea & H™ fbar : 40 TS
qredfad

T F Ger HE@ ¢ 32 To¥ Td 28 Ay

Hx‘rl{?ruﬁda:tfzﬁﬁuﬁgwqésoﬁuﬁmﬁw

A T B T e 40 w5

qrefas T Y B fa : 39 €©

Yaetia mafeae ww g « T &1 U Hel

ar&fﬁrnﬁaxra?gzzz,mov;ﬁa

(b) What is meant by Flexible Budget in Cost Accounting ?

[4]
ST i 3 el dete 4T I § ?

8. (a) Define "Budget" and "Budgetary Control". State the
advantages and limitations of Budgetary control in an
organization. : . [8+8]
'm"ammWﬁmwww
<t & awcd P @ wrl T e @ aof
BT |

P.T.O.

C-248 (13)
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110 kg of raw materials costing Rs 7 per kg was used g,
a unit of article. Calculate material cost, price and ygy ge

[2+1+1]

gaaqga%wmﬁlzoﬁmwﬂgaw
WWWWWWIWWW
B R WA B TE G B 110 fargy
mﬂlﬁﬂ70069ﬁrﬁv—mu§aﬁaﬁn§|wm
T G ST A/ e &1 aRed By

variances.

UNIT -V
3HE —V

Nickson Ltd. présents the following. data for the
accounting year 2012-13 : '

Rs.
Sales (6,000 units @ Rs. 100) 6,00,000
Variable cost @ Rs. 80 per unit 4,80,000
Contribution 1,20,000
Less-Fixed Cost M__

£ %A

Loss (60,000)

Calculate -

(i} Break even sale in units

(i) Sales needed to earn a profit of Rs. 1,20,000 (after .

lax) tax rate being 40%

(iii) Assuming a price increase of 10% and consequently

areduction of 5% in sales volume, new B.E.P.

© Pt per umit 1t B.E.P. is brought down to
5 000 Units,
(V) Additional sales required to cover an increase of
Rs. 40,000 in advertisement expenses.
[4+3+3+3+3]

Frae fafies grr Sramad 2012-13 @ R Praffad @i
W{I,ﬁﬁ'z‘(”‘l‘(’:

® Rs.
faEBY (6,000 units @ Rs. 100) | 6,00,000
ARl e @ Rs. 80 per unit 4,80,000
BT - 1,20,000
Less-ReR amrq *1,80,000
Loss (60,000)
RIUET ST -

(i) wHfesT forg fawma garedl §

(i) PR B TTER 120,000 T, BT A AT B &g
Ay & ATTIHAT TX PR BT X 40% = | _
(i) fospa qe@ § 10% 3 IfE A Rd Ferawy

ﬁmwﬁS%aﬁWaﬁmew
gafrese fIwg;
(w)qﬁwﬁaiaﬁﬁsooosmwmm
@ oy 3o faswa e ' :
(v)ﬁammﬁrﬁmooo*a ﬁqﬁgaﬁaﬂrﬁ%g
afRa fswg @t AaDT |

N P.T.O.
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(h) Give any four reasons for difference in costing pro
OIlt g
nd

1. (a)

(b)

fimancial profit.
(L1 14

STl I el [0 @M 1R & 1 IR ey B !
| |

"It has been stated that an efficient costing system wjj not
necessarily produce accounts which is their résult wil]
agree with the financial accounts." Comment upon thig
statement and explain the objectives of reconciling cogt

and financial accounts. E10 + )

e PE WA R fF W ot & IRum v
BT Dl fqdTT BT vd arg don i ot @
el & Igaedl &l FHesy |

The P/V ratio of a firm dealing in ﬁreciSion Instruments is
50% and the margin of safety i1s 40%. You are required to
work out the Break even point and the net profit if'the sale
vuiume 18 Rs. 50,00,000. | [2+2]
Uh B, W e T @ @R # ol R, @ e
ST 50% d GRETT T 40% & | s fag a1
IREe AT o afy R 5. 50,00,000 F & A

9 W g anr A I AR
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B.Com. (Part-1I) Examination, 2013
ACCOUNTANCY AND BUSINESS STATISTICS
Second Paper
(Cost Accounting)

Time allowed : Three hours

Maximum Marks : 100

Attempt five questions in all, selecting at least
one question from each unit. All the questions
carry equal marks. Each question contains Parl
(a) and Part (b). Answer is restricted 10 the limit
of five pages approximately for Part (a) and
about 100 words for Part (b).

UR® ShE H W FH Y B Uh U Bl AT
FYd gY, ) uig uel @ SR Qg | w4
gl @ 3 |HM & | TE U A | AT (@)
ud (b)) &1 9T () BT SR ATAT 5 YK g
AT (b)) BT SR ORPTT 100 WERT H B
A1y |

UNIT -1
galg - I

1. (a) What do you mean by installation of costing system ?
Discuss the necessity of installing a costing system in an

organisation. (6+10)
T ST TSR ¥ oY R I & ? TP e H
o UERY B T B AATIHAT W YD STy |

PR DT M
Scanne d with CamScanner
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(b) Standard time 15 hours

h\
Time taken 10 hours

Wages rate 30.50 per hour

Ascertain the amount of bonus and total amount of w
under Halsey’s Premium Plan.

(oTa \a) 15 T
(Fga w\a) 10 6
(T TR) 20.50 URY wer

%ﬁaﬁmﬁmwzﬁagamaﬁwﬁraﬁ{@
HSIG &Y I BT gaT o |

You have been asked to calculate the following levels
from the information given below:

ages

4

(a) Reordering Level
(b) Maximum Level

(c) Minimum Level

(d) Average Stock Level

Reordering quantity is to be calculated from the following
data:

(1) Total Cost of Purchases relating to the order 320,

(it) Number of units to be purchased during the year
3,000;

(iii)Purchase price per unit including transportation cost
750

(iv) Annual cost of storage of one unit - 10% of cost,

(v) Lead time - average 10 days, maximum 15 days
minimum 6 days:

(2)

(vi) Consumption Rate

(b) Whatis material turnover ? Explain.

(a) A production departme

C-203 (3)

. Average 15 units a day

maximum 20 units a day, minimum 10 units & day.
[3+3+3+3+4]

ﬁqﬁfﬁgawaﬁ%mﬁﬁﬁwﬁmqﬁmq
HAT B

(,a)ga’af?maﬂw
(b) forpaA ®R
(c) gATH TR
(d) 3w L TN
g i A @1 IRee e el B AER W
T B
) Sty e @dE @ A o 220;
(ii)ﬁé%fﬁ?ﬁ@ﬁéaﬁaﬁw@ﬁiﬁmmm;
(iii) afRae e e Wi e w¥E ged 350;
(i\')wma‘»ﬁaﬂwaﬁaﬁ%m—amw
10%; -
(v)t»ﬁ@W:Mmm,mﬁwqwﬁﬁ
=g 6 o, | |
(vi)waﬁa?:gﬁﬁﬂsﬁwmsm.ﬁﬁfﬁ? |
a@ﬁﬂzogﬁm,qﬁﬁﬁwms—ﬁm\ |
(@)
e anad @ § ? wEeEt

UNIT -T1
gog - 11

nt of a manufacturing company
hines, for each of which it is

¢ different mac ;
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[1+1s1 010 ISR TS—

desired to establish machine hour rate. The overhg;d
'expenses for this department for the year ended 31
March, 2012 are : '

4 3
Consumable Stores: Power 7,200
M;xélxine no. 1 3,000 Heat and Light 4,000
Machine no. 2 5,000 Rent and Rates 24,000
Machine no. 3 6,000 Insurance of Buildings 2,000
Repairs and Maintenance: Insurance of Machines 4,800
Machine no. 1 4,000 Depreciation of Machines 72,000
Machine no. 2 6,000 Supervision 44,000
Machine no. 3 8,000 General Charges 11,000
Additional information is available as follows:
Effective Area Occupied Book Value Working

H.P (Sq. Ft.) of Machines  Hours
Machine no. 1 5 100 %1,20,000 10,000
Machine no. 2 10 500 32,00,000 25,000
Machine no. 3 15 400 71,60,000 20,000

You are required to calculate Machine Hour Rate for
ezch of the three machines. Show clearly the basis of
u,pmmmem that you use. : [16]
TR TR ® Sred fwmr ¥ dF e
o va’*ﬂeanaamw@ma%%ﬁﬂﬂﬁ?m
=% Pif¥em Al & 1 g far A s ATE 2012 B FHC
7 = # gufam frefafea 23—

. z
FEEisy w2l fasreh 7,200
RS HaT 4 3000 W R N 4,000

A R 2 5,000 fopvmm @R &¥ 24,000
7o R 3 6,000 ST BT drAT 2,000
TRAT 3R TN 7=t &1 4 4,800
A R 1 4,000 WM @I JegeTd 72,000
72 FaR 2 6,000 TIIEI 44,000
A e 3 8,000 AWM ¥HR 11,000
o SUeE A 3 TBR § —

TATd e ST@T?{)_CT qINET BT Working

H.P (Sq. Ft.) g€ qed  Hours
A R | 5 100 21,20,000 10,000
A Hdx 2 10 500 72,00,000 25,000
A9 HaR 3 15 400 Z1,60,000 20,000

AT YRS AN B forg AYE =Sl R H GRS
FRAT & | A B AER Al e g |

(b) How are the selling and distribution overheads absorbed ?
@)
g Td faeer SuRamdl &1 saeier b year fhar
NG
4. (a) A factory’s normal capacity is 1,20,000 units per annum.
The estimated cost of production are as under:

Direct material T3 per unit, Direct labour ¥2 per unit
(subject to a minimum of ¥12,000); Indirect expenses:
Fixed %1,60,000 per annum, Variable 32 per unit, Semi
variable 60,000 per annum up to 50% capacity and an-
additional 20,000 for every 20% increase in capacity or a
part thereof. Each unit of raw material yields a scrap
which is sold at 20 paisa. During 2012-13, the factory
C-203 (5) P.T.O.
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(b)
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™

C-203

worked at 30% capacity for the first 3 months by it
expected to work at 80% capacity for the fﬁmaini"‘tas
g 9

months.

During the first 3 months, the selling price per upj ‘
Wag

#12. What should be the selling price in the femaining g
g

months to produce a total profit of ¥2.18,000 ? (6]

@ﬁﬂiﬂﬁﬁwmiﬂ?mm(moﬁqﬁ)mgﬁ
ad 120000 FPIEAT BT SR FX FHA B | Agafyg
AT g A TR © o

yegy A 3 U g, U s 2 ufy ger
(= R 212,000 U ATE); JTCTET @ - Ry
31,680,000 gfa 9, oRadea 2 Ui soE, o
uRad=3iial 50 ufqwd &¥ar & 360,000 Ui a9 qoy
AT B TG 20 GRIE Al SND HET B gy W
%2o:ooomﬁaﬁsxﬁfﬁaﬁlwﬁraﬁgﬁfsm§ﬁw
mmﬁ?o\ﬁﬁfﬁméﬁmﬁmm%ltﬁﬁa
go12-13ﬁ$u%3%ﬁ3ﬁ?ﬁmﬂ50‘%ﬂﬂw
39 9 A H 80% FHIAGTHAT R HTF Hcll © |
'{waqﬁmﬁm@mﬁmwmﬁgw
TW%"TH@(WW@WWWW
T 9 & v @ wRa g Ard R 2,18,000
@ we o AT B/ HE |

Write short note on “valuation of work-in-progress” [4]
“oTe], BT B e R fewl iRy |

UNIT - 111

018 - 111

Fo:l ;?{ available following data prepare Process I 1
an accounts assuming that each item of the product

(6)

.. has to pass through all the three processes till its
completion and also prepare a statement of profit for

the year ended 31% March, 2013.

Process I 11
Raw material 2000 kg. @320 —
Direct Wages (%) 30,000 17,800
Work Overhead (%) 6,300 3,000
Normal Loss on input 5% 10%
SaI;: of scrap
@ 25 per kg 100 kg 80 kg
100

Selling price per kg (%) 50

(16)
11
5,000
3,300
20%

20 kg
150

Two third of articles processed in Process [ and one half in
Process I were transferred to the next process and the
balance were sold. Management €Xpenses amounted to

75,000 and selling expenses ¥7.000.

ﬁm%ﬁaﬁmqm‘ﬁml,uamm
mamugnﬁ%ﬁﬁﬁawa%mmﬁ
qﬁmﬁﬁﬁaﬁﬁ%%ﬁﬁﬁqﬁm&ﬁﬁw
BlaT & a1 31 a1, 2013 B gEw 94 B forg A B

faRor A T
ufsear | 1
Heal Al 2000 kg. @320 —
yegel Iad (%) 30,000 17,800
P aMaes ) 6,300 3,000
$YE W | JHEA 5% 10%
By P A '
@ %25 wfay fell 100 kg 80 kg
Jo qea A fell ]) 50 100

C-203 A

I
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5,000
3,300
20%

20 kg
150

P.T.O.
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(b)

6. (a)

C-263

mlmﬁﬁawaﬂz/awamnmm

1 anTel ufear H erARa fBAT TN A AT By gy
% Rar| vEwEEm @g 5,000 W 5T arg ?7800
g 5| '

What is meant by ‘Retention-money’ in contract costing 9

\ )
ST AT H SR qed’ | g A § ?

Modern Construction (Private) Limited undertook g
contract for the construction of a bridge on 1 Jafnuary,
2013. The following balances were revealed from the
costing records in respect of that contract: "(16)

Material at site 75,000, Plant at site ¥1,80,000, Work
certified for ¥18,00,000 of which 80% was received by
cheques. Cost of work uncertified was ¥3,00,000 and
profit reserved for future contingencies was ¥1,05,000.
During this year the following further expenses were
incurred:

Materials 72,40,000, Wages %3,20,000. Wages accrued on
1°' January 2013 were Z15,000 and on 31° December

2013 %21,000. Administration expenses paid 384,000,

which includes 23,000 for the last year. At the end of the
year, material in hand was worth 10,500. Depreciation
on plant be provided at 10% per annum. Materials costing
%% ,300 was found unsuitable for the contract and was sold
for 7,900. Work certified during the year for 18 Lakhs.
Cost of work uncertified was ¥11,000. Contract price of
the contract is %40 lakhs. Prepare Bridge Contract
Account for the ended 31" December, 2013 and what
profit be taken 10 Profit & Loss A/c ?

(8)

(b)

C-203

_—

ﬁmﬁmﬁ(mﬁz)%ﬁé@%wgammam
i%mum,zmsﬁma@ﬁgﬂé%@
gl fre oo Suaa &

FreiReIe TR A 275,000, A 31,80,000, FHIORT &1
£18.00,000 FTET 80% A ¥F G ATl & I &,
TG Brd @ ST 300000 e A @Al 89
SRy o 31,05000 ATl TE a6 & <R freferRad
o 3R fed T

Al 22,40,000, % ¥3,20,000, 1 STA 2013 EA I A
Forgdl 15,000 TNl 31 R 2013 BN R LEES)
721,000 i | HeAIE TT 384,000 fpa T = 33,000
T qf @ wfdf o1 @ @ I F W 210,500 B
ﬁﬂ?ﬁm%mmmwgﬁf‘aﬁqﬁraﬁ
HeT £ %8300 AFTA @ GFll o @ fog argaged
8 & PR 27,900 # Ry 1 TS| W 9d A 318 A
1 B WA g3 | ATAIRE Hrd BT AT 311,000
o) 59 3¢ 1 G Yed o ad 21 31 fERR, 2013
&1 G 9§ @ fog e deT W adgd w aE
ERIED] f5 o = @ & fean IR sFaRa @
ST =Ry ? .

Prepare Abnormal Gain Account and Normal Wastage

Account from the following details in respect of Process
X. O]

(i) Input 2000 units at the cost of 340,000

(ii) Labour and overhead cost incurred in process
16,400

(iii) Normal wastage 10% of input
(iv) Scrap value per unit of wastage 312
(v) Actual wastage 120 units

(9) P.T.O.
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m'm'@ﬂmﬁuﬁﬁﬂﬁwﬁﬁm

WTHWWHHWWQ:

(i) e 2000 SHEAT 740,000 B AFTT ¥
(i) wfpar # 59 9 SUR@T ANTd 2 T 16,400

(iii) AT &g 39gC BT 10%

(iv) &3 P U7 P18 AR qou 312

(v) IRafdd & 120 SHRAl

UNIT - IV
gHhE - IV

i

7. (a . 1
{a) Rakesh Ltd. wishes to arrange overdraft facilities with its

(=203

Bankers during the period April to June 2014. Prepare

Cash Budget for the above period on the basis of the

under mentioned data indicating the extent of bank

facilities the company will require at the end of each

month :

2014

February
March
April
May

June

Sales
4

90,000
96.000
54,000
87,000
1,13.000

{10

Purchase

4
62,400
72,000

1,21,500
1,23,000
1,34,000

Wages

4
6,000
7,000
5,500
5,000
7,500

(16)

(b) Calculate

C-203

50% of the sales will realise in the month following the

d remaining 50% in the second month following.
n the month

st
k on 1

re paid

sales an
Creditors for purchases will be paid i

following the month of purchases. Cash at Ban
April, 2014 is estimated to be ¥12,500. Workers a

in the same month for their wages.

m%ﬁé@aﬁﬂﬁm.zomﬁmﬁmﬁﬁzﬁﬁﬁ
sy aﬁgﬁmwma@?f% fopg et B
mmmmﬁmmmm (Cash Budget)
WWWWW%M@IWW%

o 3 fpa e arfdfaed @1 ARl grf
2014 ICEdl ECRiL qad
' z ? z

HRAv! 90,000 62,400 6,000
|74 96,000 72,000 7,000
i 54,000 1,21,500 5,500
K] 87,000 1,23,000 5,000
5§ 1,13,000 1,34,000 7,500

so%ﬁaﬁzﬁfavgﬁﬁﬁa‘amwﬁwmso%
ﬁaﬁéﬁﬁiﬁ%a‘rmﬁ@méﬂaﬁ%m%
Wmﬁwﬂmmum,zomﬁ%ﬁ
mwﬁm,sooaﬂa@m%mﬁ?ﬁaﬁwﬂzﬂ
We@wﬁmml

direct labour variances from the following data : (C))

ﬁmﬁf@ﬁﬂﬁﬁ@mﬁa‘wﬁaﬂmaﬁm:

(11)

P.T.O.
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Actual Standarq
(D) (g
Hours to produce one unit \
(T 3 D IIEA B HC) 6 g
Wages Rate per Hour
(@f goeT 59 <R) 79 28

(a) AB Ltd. produces ‘Distempers’ from the following
standards: )

AB fafics grRT R¥ear’ &1 Swred FrfeiRaa gy
¥ fFar <mar -

k4
Material (A=) A 40 litres @ ¥7.50 = 300
Material (F73) B 10 litres @ %5.00 = 50
Material (A1:fY) C 50 litres @ ¥2.00 = 100
450
Input (§79<) 100 litres, output (SeT&=) 90 Litres
Actual for a week in February, 2005 :
HRARY, 2005 H U WWilE & 0 qrafip: 4
Material (WFRf) A 24,000 lires @ %8.00=  1,92,000
Material () B 4,000 litres @ 75.20 = 20,800
Material (FF71) C 22,000 litres @ 22.10 = 46.200
72,59,000
Output 42,000 litres,
Calculate direct materja] variances
e S ARl @ o Ry

(b L1alculate efficiency ratio, activity ratio and capacity ratio from
the following data:

“)

2-203

(12)

9. (a)

C-203

Budgeted output 80 units
Actual output 75 units
Standard time per unit 10 hours
Actual hours worked 600 hrs.

frforRad daeT O PricEdr U, fareierar srgard
T &FTET ST T U@ BT -

qoIe ASCYE 80 SIS
| arafis ArSTge 75 TP
e e iy 3o18 1081'%'
Jreafae g dM fbar 600 T
UNIT -V
P18 -V

Modern company has a maximum capacity of 4,40,000
units per annum. Normal capacity is regarded as.3,60,(?00
units in a year. Variable manufacturing cost (including
material and labour) is ¥2.20 per unit. Fixed factory
overhead is ¥1,08,000 per annum. Selling and distribution
cost of fixed nature is ¥50,400 per annum, whereas
variable is 0.60 per unit. Sale price is ¥4.00 per unit.

Calculate: [4+4+4+4]

(i) Break even point, P/V Ratio and Margin of safety.

(ii) Number of units to be sold to earn a profit of T36,000
p-a.

(iii) Sales needed to camn a profit of 10% on sales.

(iv) Selling Price per unit to bring down B.E.P. to
1,00,000 units of the product.

%ot e @ AfSpaH SIET & 4,40000 FHILAT
S . 1 e A 360000 SN R 6 )
(13) P.T.O.
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(b)

10. (a)

© 203

o T ¥ aRadd P T (@ qo
af¥q) 2220 Ui gopré e <) D @ ?1,08,000‘*;;
aé%lﬁmﬁmﬁawﬁﬁ@ﬂwﬁ?ﬁm?sogoom;
aéamqﬁaﬁa&ﬂﬂmeoﬁﬁﬂ%ﬁé%lﬁmﬁm
2400 9RI SHS B

g DT

(i) afaese favg, i IgUra AT FR&TT W,

(ii) 36,000 af¥® @1 @ ARAT B3 ©F AT 3wy
qArST SHISTT D] G,

(iii) faspg WR 10% o Afid & Bq W‘ﬁ?ﬂ
P M,

(iv) 1,00000 S@EA R G- fIg Suae &
Tq Uit so1s fasd g |

Give any four reasons for difference in costing profit and
financial profit. (4]

TG I U9 fRIY 9§ oFaR @ iz AR IRY
oty |

The following figures have been obtained from the |
ﬁnanci_al books of Shyam Bros. for the first year of itS |
operation. [5+5+6]
7
Direct material used 5,00,000
Direct wages 3,00,000
Work overhead 1;609000
Administrative overhead '70’000 L
Selling and distribution overhead 9600 |
Bad debts provision 8,000

Preliminary expenses

4.000 - C-203

Legal charges 1,000
Dividend received 10,000
Interest on deposit received 2,000
Seles (12,000 units) 12,00,000
Closing stock :
Finished Stock (400 units) 32,000
Work in progress 24,000

. In Cost Accounts, for the same period, reveal that the

direct material used was %5,60,000, Factory overhead
recovered at 20% of prime cost, administration overhead
recovered at %6 per unit of output and selling and
Distribution overhead at Z8 per unit sold.

Prepare a Statement of Cost and Profit and Financial
Profit & Loss Account and reconcile the difference in
profit as arrived in the two sets of accounts.

Frefaied dea W T/ & AdE IR A SuerE F,
St 973 uRETeE & yuH 98 § G ©

3
yeaer ArEfY BT SRIAT 5,00,000
weget aa 3,00,000
EIRISIENCE 1,60,000
FITERTS ATaRES 70,000
T o feRor Aaves 96,000
@RTE FOT FTaET 8,000
PISIEECE 4,000
S TP 1,000
T AT g 10,000
ST qR ST AT 20,000
fargY (12,000 HTEA) 12,00,000 -

( 15) : , - .P.T.O.
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ol IS

e et (400 gHTEAN) 32,000
a1l wufe W) 24,009

e ol A 9l efy W OSIE W @ g
75,60,000 off, wrRa@Mr SuREd el A R 2y, &
AR Y S fd O, TN SUle 36 gy
Saaifee gerd g a9 faaver SURER 8 Ry figy
TS TP B AR W AN B T

AT o o T fdaxor e A MBI g
gATER, S Al ¥ R v e fdaRe U e

(b) Calculate the amount of fixed cost from the following
illformation : (4)

fermafaRea gamell & ReRr &Rt @ aiReroEr Sifv
| Sales Profit

(EEQ) (sTa)
3 3
Period First (9219 3rdfd)) 40,000 20,000

Period Second (fg<ia GWfET) 50,000 26,000
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B.Com- (Part 1I) Examination, 2017
A(?COUNTANCY AND BUSINESS STATISTICS

First Paper

(Taxation — Income Tax Law and Accounts)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions having IWo
questions in each Unit. The candidates are required
1o attempt five questions in all, selecting at least
one question from each Unit. Each question
contains Part (a) and Part (b). Answer is restricted
1o the limit of five pages for Part (a) and about 100

words for Part (b). All questions carry equal marks.

3 v T T T W Y v e i

4w @ W F e w® oute v ®
S A 2 wherRid w vew wE ¥ ¥
g F IW A AFEE ¥ SN B YER Y
[N TA A T @ W B T T @
W (g) & TS T h SW AT 5 g
¥ TE W (b) Y ITHF T H IR
100 T # A Bl TR T ® sfw wnm )

- UNIT-1

s - 1

-- 1. (@ “Income earned during the previous year is taxed in the

5

assessment year.”
exceptions.

(1)

Scanne d with CamScanner

Explain ‘this rule and state its

[16]
P.T.O.



(b)

(@)

*
e ad 3 IRAT AT SR P g o
%r'wﬁmﬁw@@mmmlm

¥

Explain the scope of total income of a resident aSS:ssee 4]
v frarll BT B B I B &4 T |

Mr. Raghav was employed in a business concern rup by
XYZ Ltd. as a clerk since 15th July, 2012, From 1-4)1
2014 he was receiving salary @ 2,000 p.m., dearness
allowance @ 500 p.m. and entertainment ailowance
@ %200 p.m. The employer has provided him a motor car 5
of 1.4 litre (c.c) for his official and private use. The !
running and maintenance costs (including driver) are |
borne by the employer. He was also given the following (e
amenities by the employer :

(i) Free lunch during office hours for 120 days. The cost t{’ 3
of employer is ¥75 per meal. if

(i) Facility of sweeper at his residence. The salary of the i
sweeper is ¥250 p.m. which is paid by the employer. &=

(iii) Facility of cellular phone. Expenditure of employer
amounted to ¥600 p.m. &
o0 30th ra

(iv) Free use of music system from Ist June, 2015 t o B

September, 2015. It was purchased on 10-08
for 330,000 by the employer. '
2015 ashe |

He was employed in this company upto 30-9 z
il pay frect from &=

submitted his resignation on 31-08-2015 with €
1-10-2015 by giving one month’s notice in advance.
ernment of 1

\¢ receive
nce

He was appointed as an accountant in goVv
Rajasthan on lst November, 2015 where I ]
22,000 p.m. as basic salary, 150% dearess allo™

C-245

« has substantial interest in XYZ Ltd.

and 100 .: »

e 10% city compensatory allowance of his basic salary.
Wa§ also given house rent allowance @ 3500 p.m. and

€nlertainment allowance @ 300 p.m.

Mr. Raghav has not incurred any expenditure—on
entertainment for his official duties. He was living in his
parental house upto 31-12-2015 and thereafter started
living in a rented accommodation for which he paid 600
per month.

Compute taxable income from salary of Mr. Raghav for
the assessment year 2016-17. Assume that Mr. Raghav
[16]

Al T 15 A, 2012 W TS AEARAS FAISH S
XYZ fafies grr waifera &, & fofte & 9g &R arika
| S 1 AW, 2014 ¥ 2,000 3. Ufd AE Ia, 500 B.
yfore 7EME A= 3R 200 %, URHARE ARG 99 9T
& &1 o | e 3 SHe srled v A s @
o 1.4 ofiex &ar 1 Aex IR B YR y= B )
IOP TAM T YE-EE B A G (grEa” 9rea)
fe gRT 989 5y o9 €1 e 3 S99
feraforRaa, gfaend +i var @1 o -

() Prid wHa X qoa e @ gRur 120 R B
ford | foriaar &% &rTd 75 %, iy WA 2

(i) S TR W BT I G| GRIY F7 399 250 <.
wfr w1 & 9 fdear g faar e 2

(iii) VeER BF P GiEn | Frvar o1 @4t 600 %
;rhmg%lr :

(iv) 1 S, 2015 ¥ 30 R=R, 2015 75 =gfore Ried
@ qo WA B G| 3 R g 10 T,
2012 T 30,000 . BT ANTT G EET 74T AT

(3) P.T.O-
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(b)

248

g =9 FAE § 30—09-2015 e A

2 1_q0—2015 § M 9F {37 oy
?j@qwm—a—zms 3 & WT@FZW
qar, 2015 @ S0l R <roRems W';
SraEmre @ € R §E TN SHH 2,000 B, 4Ry g
aﬂ?aﬁﬂqﬁﬁﬂ??ﬂwomqﬁmﬁwaHi
qﬁmwwwﬁm%lﬁsooamm
Hopr T W T 300 T URY AR WANSH sy oy
frerar 21 A WEE A FRGH W B B & Ry
Frated B ol AT TE BT 31-12—2015 TF 3 aqy
ifye 7o 4 W W I T SHe uvEn| RRR @
T § W& o AT 600 B. W AIE @ R W Ry
FHT |
) fuiRor af 201617 & ford &0 e @) I Wife
P - J P A B | TE A B XYZ
s # A wea &1 9RaA 2 2

Mohan retired from service of a company on st January,
2016. His pension was sanctioned at 6,400 per month.

He received 32,40,000 for gratuity also. He got 3/4th of

this pension commuted and the commuted value received
by him was %2,88,000. Compute the exempted amount of
commuted value of pension for the assessment year
2016-17. (4]

25 TF FEE @ v § 1 o, 2016 B HE-TN
gammﬁe,wovmaﬁﬁﬂﬁﬁﬁazﬁaﬁvéiﬁ
2,4O,WOG.W$4ﬁW§ﬁIW#ﬁW$3/4
WP Te-gIg Ay 2,88000 ®. WK fad |
V- T8 2016-17 @ forg @ qEA e BT
T T B T BT

{ AN

UNIT - 11
y s - 11
Shri Sohan is an income-tax officer at Jaipur. He owns
two residential houses. The first house is at Delhi. The
construction of this house started on 1st July, 2008 and it
was completed on 31st December, 2011, For the
construction of this house he took a loan of ¥1,00,000
from Allahabad Bank on Ist January, 2009 at an interest

“rate of 12% per annum, The loan has been repaid on 30th

June, 2015. He has let it out at a rent of ¥4,000 per month

* to a company for its office. The second house is at Jaipur.

It was constructed on 1st March, 2015 and has been
occupied by him for his own residence since Ist June
2015. He took a loan of 60,000 on 1st August, 2013 at
12% p.a. interest for the purpose of construction of this
house. :

Other relevant particulars in respect of these houses are
given below :

1st House 2nd House

® ®

Municipal Valuation 24,000 18,000
Municipal tax paid 10% 6Y%% -

Expenses on repairs 1,150 -

Fire Insurance premium paid 200 ’ s

Interest on loan . 3,000 7,200.

C-245

Shri Sohan was transferred to Udaipur on 1st December,
2015 where he resides in a house at a monthly rent of
%400 and his house at Jaipur was let out on the same day
at a rent of 2,500 per month. ’

(5)  PTO.
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Calculate 8¢ income from house property of
for the assgssment year 2016-17.

o e SR AR RS ¥ | 3 o)
W§|gwwmﬁiﬁ§ﬁ%|3‘ﬁmm
W1W,2oosaﬁmw§3nmamags1
e, 2011 BT TR TN T3 | 36 7T & Pymfoy o
o S 1 TN, 2009 BT TAEAT Fb W 100,090
T, @1 F 12 R 9 9 B e ) w Ry
FO G T 30 S, 2015 BT HR fear my ¥
I TE TEME (S PN DT DA B R 4,000 v,
afa AE A W 9ol W 7| i wem s §
Rerg 21 g1 FEi 1 A, 2015 @ o1 gam ok 1
I, 2015 9 J @G S W@ W@ ¥ '
3o Al & o S| 1 3R, 2013 BT 60,000 .
BT 0T 12 Yiawd aiffe =arer W forar oy
Ml AEE W gt 3 faarer ffolad &

T ApN  fadd 7o

hri Sohap

[16]

®) ®
TRAICTPT Fed 24,000 - 18,000
TR IR IR 10% 6Y4%
A W &Y 1,150 -
= 9 9itEE gern : 200 -
T T T 3,000 7,200

A1 e B YFRRY 1 e, 2015 FY SR
Wﬁ?émoﬁnﬁquﬁﬁﬂﬁ%mﬁﬁg
AR S Red wem wd foq ¥ 2,500 . HC
A IR 9oy ey ey A
A EET B AR Puiker qf 2016-17 D R
THEIE W A @ ey iy |

4.

(b) Find out depreciation for the assessment year 2016-17,

* 4,00,000 B, H TS| . &

(@

(b)

Written down value of a building on 1-4-2013 was
340,000 on which 5% depreciation was allowed on 20th
June, 2013. The company acquired another building of
the same block for Z4,00,000. ' [4]

ffRor o€ 201617 & forl [e@ B9 B MU B |
1—4—2013 BT TF wa7 ore W 5 yRwa B X F Tl

" Wig ¥, a1 uferRad Ted 40,000 %. AT 20 S,

2013 B HOA 4 T WE W GERT T TET

H

Specify the expenses which are expressly allowed in
computing taxable profits from business. [16]
UF ANUR & ST o™l B T A F P-4
T WA [P © 7

Shri Keshav is having his own transport company.
During the previous year 2015-16, he used one light
commercial vehicle for 4 months and 3 days, one
medium commercial vehicle for 10 months and one
heavy commercial vehicle for 10 months and 27 days. In
addition he took 3 heavy commercial vehicles on lease
throughout the year. Calculate his presumptive income
from the said business. [41

£ DIAT P JTN TP UIE S T | SR T q§
2015—16 ¥ U@ Behl AMRSG d87 4 A8 3 5 B
fod, Uo w=g¥ AT 9189 10 "8 @ ford 9 Us 9y
At e 10 A€ T 27 &9 & ford wainr & forn | 39
afeRed S99 A1 NI A1 a9ree fv W oY ay
i ST ol | S 6 @R ¥ 9ReeHr A
T BT
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5. (a) Mr. Chetan sold a house property on Nov. 1, 20]
£22,00,000. He had entered into an agreement to so
property to another prospective buyer on May 1, 2004 for
¥9,55.000 and received 55,000 as an advance. Byt the
prospective buyer could not keep his promise ang failed
to pay the balance amount within the stipulated time of
two months and as per agreement Chetan forfeiteq the
advance amount and did not return to him.

S for
1l the

Mr. Chetan got this property in gift on June 1, 1985 from
his friend Manoj. Manoj also entered into an agreement
with Ashok to sell this property on October 1, 1983 and
received a sum of ¥10,000 as an advance from him.
Ashok also could not keep his promise and the advance
money was forfeited by Mr. Monoj. Manoj purchased the
property on May 1, 1975 for 1,00,000. On 13th April,
2015 he once again entered into negotiations for sale of
the said property to Mr. Mukesh and received ¥2,00,000
as advance. The transfer did not materialized and, hence,
the advance was forfeited. Mr. Manoj and Mr. Chetan
incurred the following expenses for additions, alteration
and renewal of the property. '

Addition of one room by Manoj during 1977-78 20,000
Addition of first floor by Manoj dufing 1983-84 44,000
Addition of second floor by Chetan during 1990-91 1,26’500
F.M.V. of the property on 1-4-198] 1,26,500

* The cost inflation index for the year 1983-84, 1985-86

and 1990-91 are 116, 133 and 182 respectively. Compute

25 (8)

the amount taxable under the head “capital gain” of Mr.
. Chetan for the assessment year 2016-17. [16]

A I A @ o TRy 1 ATER, 2015 DI 22,00,000
%, ¥ iy ) oay Tu Gl @ 1 7S, 2004 B &
A BT BT 955,000 T. F U4 BT SEN@ fHAT A
AT 55,000 %. PRI AH B ¥9 F wra H A ™Y
T A gy g@e @ A8 T wer ar S
freffa oy 2 7z § 39 o &1 graE TE B

© A Y A WY @ v Y o auT S9 afd &y
qId T8} e |

St U B g8 FHE Gl I B TEe W o1 9
1985 @1 SUBR ¥ el off | 7T 7 0 1 IR, 1983
1 TH AR 3T 99 3T oeNd AN WS | A e
T 10,000 . B IR AH WA A A | ®Y IS
ff oY TR @Y Ad e g ar iR A @l
S 7 gRT ol X ol T8 ot | Y S ¥ 59 "N
TR P 1 S, 1975 DI 1,00,000 . F @A AT| 13
N, 2015 B UF AR G A GOU & 6T IH G
@ 99 $1 dier far Tar vd 2,00,000 % A B U
¥ oy Y sRY T B9 S o " gaferd
fF ¥ e R oA T A A U9 s 99 gRT
T wHH WERT B IREH FdMIeT Ud gfg w e

=g 5y T A
4
HA gRT 1977-78 # U@ &N §aM R &g 20,000
7T ERT 198384 ¥ e HRIA TN W g 44,000
A g @Y A TAH R TG 1,26,500
1—4—1981 BT TR BT SR TR o0 ' 1,26,500

NG gfE AP I 198384, 198586 TG 199091
3 R P9 116, 133 UF 182 ¥ Ty af

C-245 (93 5 <) PT.O.
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(b) Durin

g the previous year 2015-16 Mr. Jitendra received

the following sums as commission from different

businessmen for selling goods.

(i) 33,600 from a partnership firm on 10th October, -

2015.

(i) ¥7,600 from on individual on 25th September
2015. ’

(iii). ¥6,300 from on individual on 15th December, 2015,
The gross sales of this businessman during the
financial year 2014-15 was ¥105 lakhs.

(iv) 5,400 from a Hindu undivided family on 18%
March, 2016. The gross turnover of this family
during the financial year 2014-15 was 98 lakhs.
Calculate his income from other sources. [4]

@) Y fordeg ¥ 79 9 2015—16 ¥ fafr=T eraiRAl | A

¥ B g § A HEE ar A
() TP FERTE B W 10 TTE, 2015 P 3,600 .
(i) T afe ¥ 25 Ry, 2015 BT 7,600 %

(i) TF AR ¥ 15 feawR, 2015 @I 6300 T ¥

= & 6T af 2014—15 B Gher {105
oTE . oAl

(v) To f&g afrfag wRer 9 18 A, 2016 @l
5400 .| 3 URGR P fadig a9 2014—15 Gl
Hoa 4 98 org B9 off |
SHE o ARl ¥ g ) AT B

- (10)

AT

PRI ST

6. (a) Discuss the provisions of Income Tax Act relating to the

(b)

C-245

set off and carry forward of losses. [16]
A 2 off v et o N @ wEEd TR
P @ yrguE @1 goie P |

On the first day of the previous year 2015-16 the capital
invested in the business of Ramesh was %18 lak’h which
includes %6 lakh received from his wife by way of gift.
His wife gifted him 32 lakh also on 1st October, 2015
which Mr. Ramesh invested in his business on the same
day. Mr. Ramesh earned income of ¥4.5 lakh during the

previous year‘ 2015-16. Compute the amount to be

included in the income of Smt. Ramesh. 4]
S P e § 18 or@ . B el T af 2015-16
?%umi%#awﬁgéeﬁmﬁsmmwﬁqc—vﬁ
J SUER # W g A | IS IS 7 1 IJAGER, 2015

@ f 9 2 @ S, BT SUSR fear Ry W T S

o7 s @aa § @ far) W af 2015-16 # Al
T B 45 A T. B AT g | A T B A A
[itAferd @Y M arell M B O DY | -

UNIT -1V

S -1V

From the following particulars corﬁpute the total income
and the net tax payable or refundable by an individual
assessee for the assessment year 2016-17 :

‘(i) Income from let out property (-) 25,000
(ii) Income from Business & profession 10,86,000 -
(iii) Long term capital gain computed 1,72,600 :
(iv) Div_idt?nd received from co-operative

societies 9,000
(11) P.T.O.
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%) Received interest from unlisted debentureg

ofa company +9,000
(vi) Winnings from M.P. state lottery in

December, 2015. 30,000
(vii) Donationto charitable institutions 10,000
(viii) Paid premium of insurance of his health '

by cheque. 28,000
(ix) Donation to national defence fund 4,500
(x) Deposited in public provident fund. 70,000
(xi) Purchased national savings certificates .

(viiith issue) 35,000
(xii) Interest on savings bank deposits. 20,000

[16]

fr=fafag famw ¥ v afda wxemr @ sr—fufor
¥ 2016—17 & o §d AT Td Y T PR Fe@m
IOl @Y T BHIRTG—

(i) T R Qo ¥ AeE |9HERl ¥ 3™ () 25,000

(il) STIR A=A VI F 7T 10,86,000
(iii) Sreferei ol o (T far gam) 1,72,000
(iv) SR ARkl § arng gra fean 9,000

(v) T& D1 & SRR FurgEt ¥ el ure far 9,000
(vi) FEAUSY WBR P A BT AW Sial

feamaR, 2015 # 30,002
(vii) guarl Fwemel @ M 10,00
(vill) I WE B wWreg & 4o @ G 395 9

ECael 28,000
(ix) L e dY H g 4,500
(x) OEwHe wfwg AR § o R 70,000
(xi) S Fd TF (orgw) ffa @ 35,000
(xi) ¥ ¥ 997 WK ¥ O W I 20,000

(12)

(b) Explain the deduction to be allowed to an individual

8 (a

(b)

assessee in respect of appointment of new regular
workmen under Section 80 JJAA. . 4]
U6 A e @ T e Ao B %gﬁ L3
W § & W gl 9w 80 JAA W B
Y |

Discuss the salient features of assessment of Hindu
Undivided Family under the Indian Income Tax Act,
1961. [16]

RS SRy afdfrr 1961 @ Srta fawy st
IRIR & FR—Fier & @ ol @ [T DR
“Though agricultural inconie is exempt from tax, yet it
increases the tax liability on other incomes.” Discuss. [4]
R I < § gy & ol 717 fages S|

UNIT -V

E-V

9. (a) There are two partners X & Y in a firm of chartered

accountants. The income and expenditure account of the
firm for the year ended 31st March, 2016 is as under :

[16]
®) ®
Office expenses 1,10,000 Receipts from clients 3, 23,000
Salary to employees 70,000 '
Salary to X 48,000
Salaryto Y 72,000
Interest on capital @ 24%
X 6,000
Y 79,000 15,000
Net Profit 8,000
3,23,00.0 3,23.000
C-245 (13) PT 0
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Other information is as under :

(i) There was no provision in the partrierShip deeé on 1

4-2015 for payment of interest on capita]

to partners. On 1st June, 2015 the pgnne;'l‘gpsz:ilard
was amended. Accordingly with effect from 1_4_28?5
salary of 34,000 per month was allowed to X and
Salary of 6,000 per month was allowed to Y and
interest on capital was allowed @24% per annum 1o
each partner. .

(ii) During the financial year 2015-16 a long term capital

asset was sold by the firm and on the cost inflated
indices a long term capital gain of ¥1,75,000 was
computed.

On the basis of the above information compute the total

income and tax liability of the firm. [16]

IS UHSTeed @ Uh ®H A Q1 WEIGR Ua
arg’ E1 31 W, 2016 B GAQ B adl 9§ @ fo’
BH B I—FI Gl 7 TR 8

®) ®
HAGE aF 1,10,000 USRI & wifrEr 3, 23,000
HH=NEl BT A 70,000
X &7 Tad 48,000
Y &1 96 72,000
TR T = 24 WO B R W
X 26,000
Y 79.000 15,000
Iz 9™ 8,000
3,23,000 3,23,000

= FEEt A TeR 8

1 U, 20153#%1@31%?{'@1@1?\*#131#@
Wﬁ1ﬁzﬂ.zo1sﬁmmﬁw

(14)

far | gwe amER 1 A, 2015 WX @
4,000 5. RWrE qor Y $ 6,000 ¥. UHE I
B WY ¥ qur el W 24 GREG AMD B R |
Nl B w9 F <1 AR gl

(i) R af 201516 ¥ wf &R TP o el
& wafy 4 ¢ @ 99 W ArTd Wi
qEHTHI B IR W 1,75,000 % @ " BeE

ot @it @t o B T | '  [16]
SR qERl @ AR W BH D F A T
PR TR P TIMAT BTG |

(b) The total income of a body of individuals for the year

10. (a)

C-245

ending 31st March, 2016 is ¥3,70,000. It includes long
term capital gain of 30,000 and winnings of lottery of
¥20,000. Its three members A, B and C share profit or
loss equally. Compute gross tax liability of this BOI if
personal income of A, B and C are ¥1,50,000 %1,20,000
and 1,00,000 respectively. [4]

31 779, 2016 B WA B9 9§ @ ol e Afkdl @
Tg B F[A AT 370000 T. T THH 30,000 . BT
el ol @M @1 20,000 B, ARA BT FTH
el 81 S 69 WeW A, B @ C A8 SRR
gled & ARl & b BT WHA PR AT T BY
af& A, B T C @t 7t 3% 4 s e 150,000 9,
1,20,000 %. T§ 1,00,000 %. &I |

Explai‘n “Procedure for Assessment” under the Indian
Income Tax Act. RO [

aRdT IR SRPR $ oER “aR-fuer B
FRRAR" B WE DY | ' i

(15) ’ PT.0
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Previoyg
O‘if«'*nt of
n Varioys

b) Shri Chandra K ant estimated his income fo; the
(b) ;@? 2016-17 at 710,00,000. Calculate the am
advance ax payable by Shri Chandra Kant i

installments. | . [4]

st T 3 T IS 2016-17 B RIY A g o
S 10,00,000 B. T 3 IHH R Ry
freat 3§ 27 Ifm o @l AR T P |
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C-201
B.Com. (Part-II) Examination, 2018

ACCOUNTANCY AND BUSINESS STATISTICS
First Paper

(Taxation-Income Tax Law Accounts)

Time allowed : Three hours

Maximum Marks : 100

This paper contains ten questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least one question from each unit. Each
question contains Part (a) and (b). Answer is to be
restricted to the limit of five pages for Part (a) and
about 100 words for Part (b). All questions carry
equal marks.

S U U9 H %9 UHE Y W OB TR
sale # 3 U T W 81 Wenfiay &1 ufg
gl & SR o & | IRl By sors
9 TP U B SR o AfErd §| SR
ﬁﬂwﬁéﬁﬁ—mﬁam(@w
(b)W§IW$W(a)$ﬁWWW
@ W AT 5 S A TR (b) oy
SRS §&T BT IR 09T 100 W@}
%@W%Iﬂ‘ﬂmif\;(ﬂiﬁw%|
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1.

[&V)

SPIS — 1

(a) How is residence of assessee determined for income tax

(b)

(@)

purpose ? Explain the incidence of residence on tax
liability. [8+8]
GWE‘WZEmmmaﬁwﬁﬁmw
g ver fuiRa feo S 2?7 Fa @ @
PRI R IR A9 | )

W ritg short note on House Rent Allowance. - [4]

T fbxrar v w Gferg fewefly fafau |

Mr. Yash is an Asst. Manager of a Textile company of
Jaipur since 1990. He has submitted the following

particulars of his income for the financial year 2016-17....- i

|

[161. |

-

(i) Net salary 80,000 after the following deductions:
Tax at source 36,000, Contribution to Recognized
Provident Fund 9,000 and Rent of Bungalow
@5% of salary.

(iiy Dearness allowance 1,000 per month (3200 p.m.

enters into all retirement benefits).

(iii) Education allowance for two children at ¥150 p.m.

per child.

(iv) Commission on sales ¥10,000.

(v) Entertainment allowance 700 per month.

(vi) Travelling Allowance for his official
730,000. Actual expenditure on tours amounted 10

$22,000.

tours

¥

vii) H e o
.c Was given clothes worth ¥5,000 by his
¢mployer free of cost.

(V“’)??.residc's in the bungalow of the company. The
h"l:\l/eregt is ?1,590 p.m. A watchman and a cab
: een provided by the company at the
bungalow who are paid T400 p.m. each.

(ix) He has bee_n provided with a motor car of 1.8 litre
(c.c.) for his official as well as personal use. The

funning and maintenance costs are borne by the
company.

(x) Employer’s contribution to R.P.F. is 27,000 and

the interest credited to this fund at 13% rate
amounted to ¥16,250.

(xi) His .employer paid in December 2016 for his
medical treatment in France 380,000, ¥15,000 for

i lné in thlS conn t n
nd 2._.
tlaVel J. ectio a :5,('00 EOI Sta,

Compute income from salaries for the assessment
year 2017-18 assuming that his taxable incomer
;‘rlom other sources for this assessment year is
) .,50,0(.)0. Assume also that the population of
aipur city as per Census of 2001 is 26 lakhs

%ﬁwwgo@fwaﬁwmm

A |

T D W W ad £ o GRS
2016—17 ¥ TfIT S fadt o
TR b a2 '

(i) ?j@aﬂﬁiao,oooﬁﬁﬂv‘e“rfaﬁa%qsammwi

HId W AR 26,000 TR wfisy :
m %9,000, Td ‘fiﬁ?fla% 5 TRy aﬁﬁﬁ_ﬁ
ST 1 fbraT | S¥. T
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mmnoooﬁ%lsﬁ%%zooqﬁ%

= dar FgRT @i 2 B | AR ¥ Y

iy & @it &g R e 2150 9 A WY wm @y o
1

(iv) f&p1 9R HHIEH 210,000 |

(v) FERS 99T 3700 Ufd 78 |

(vi) PO BRI TG AT B AT W= 230,000 |
R ARGA® T 222,000 TIA |

(ii)

AT

(vii) FaTe gRT 25,000 o0 &1 FHUST SHB qud
Tar |
(viii)d B9 B oM H e & e Sfra faRm
71500 UfY A8 £ o @ IR W ST TH
I@HER Gl Th I@Edr &ar T g ydd Bl
2400 HfA AIE &1 YIAM ST gRT fFar S §
(ix)
Td el ganT @ fw & X B PR B @HEl @
T ST g b i ¥
e i e § Frdieer @1 siweT 27,000 €|
wfen B 13% @ 0 ¥ 16,250 @S B I
W%ﬁmﬁmmﬁma‘?wopoo
ﬁ%’gﬁs,ooowzﬁamﬁmﬁa‘im
?ZS,OGOWWWZO%?\?%&TI
2 %«Waﬁzoﬂ—wzﬁ%ﬁwﬁ%ﬁﬂaﬁﬁﬁ
s 1 MO gE Aa g ey & S
W—ﬁa@ﬁéﬁ%ﬁﬂﬁﬁ?ﬁéﬁﬁﬁ
Arrg a7 1,50,000 B | a@%ﬁwaﬁmﬁzom
£ SO & AR SR WER B S 26

#E B |

(x1)

b g

G

§

(4)

(}.;) Write any ecight examples of non-agricultural income.

3.

[4]
R-Tf A & P12 S IR AR |

UNIT - 11
gHrs — 11

(a) Discuss the provisions of Income Tax Act, regarding

. the following :

FE S 9B UF 1.8 e &l Bl BR Hrated

(b)

C-201

(i) Annual value of House covered under Rent

Control Act. 6]
(ii) Interest on loan for pre-construction period.  [5]
(iii) Unrealized rent. [5]

frafofag & w=g 8 ag o IRfm & uEeuE
W@:

@) fovran sfefem & srla 7o &1 aiffs e |
@) Al J od el & o ) &
(|) 7 a9t g3 fawman|

Venus is owner of a house whose municipal valuation
1s ¥9,000. The municipal tax is its 10% which has been
paid. This was occupied by the assessee for his own
residence but it has been let out at a rent of 800 per
month since 1* October, 2016. Calculate annual value
of the house for the assessment year 2017-18. (4]

mwwmwrﬁ%ﬁwmwﬁmw'
zg,ooo*glwmﬁwaﬂ'mwwﬁ?m%a‘rgim
ﬁmm%mgﬂmmma%wd%ﬁam%g
LRI R L 1 SR o 2016 ¥ T 2800
u%mg%ﬁmﬁwwfémm%ww-ﬁaﬁwaﬁ
2017~18$%QWW3TW35W§HW35T1§W|

()
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4. (a) Mr.

€201

pandey is a practi
also taking evening c
books on a ca

for the year ended 31** March, 2017 is as under -

®
To balance b/d 3,464
To Audit fees 33,525
To Royalty from 20.000

book writing

To Net salary after
deduction of his Provident
Fund contribution of

%720 6,480

To examiner’s fee 5.200

To dividends from

Indian company 800

To Dividends from

units of Unit Trust

of India 1,100

To interest on

Govt. Securities 200

To interest from

Post office Bank a’c 500

To rent from H/P 6.000

To Interest from

Ram’s loan 300
77,569

From the following information, compute his taxab

cing Chartered Accouny
lasses in a college. [1e .
sh basis and his summarized cash 5, Sebi

By office expenses
By Books purchased
By expenses of book
writing

By Domestic expenses

By membership fecs
By life insurance
premium

By Motor car exp.
By Donations

By Repairs of H/P
By loan given to
Ram

By deposited in post
office saving Bank
account

By income tax

By Deposits in
P.P.F.alc

By Balance c/d

ant, Yy, .
kee

le
N

Coun
®)

8,100
8,009

2000

8,000
200

6,000
2,400
569
400

3,000

7750
T2
le

. ’!
income under the head ‘Salaries’, ‘House Property anr
‘Business and Profession’ for the assessment P

2017-18.

(i} Office expenses includes ¥1,600 being the cost i

E 3 .yas¢
furniture purchased for office use. It was purchd®

in lanuary, 2017,

(6)

(ii) Onc third of motor car expenses is in respect of his

2] personal use.

(iii) The written down value of motor car on 1-4-2016
was 10,000 and written down value of furniture

was ¥2,400. This car was purchased in September,
2015 for%11,111.

(iv) His employer contributes ¥900 to the recognized
provident fund account and ¥600 has been credited

as interest @10%.

(v) Books (annual publication) have been purchased
for professional use.

ﬁmwaﬁmﬁ,ﬁﬁcﬁﬁmm
g 9® o Herfdened § Geardrend dent ft o © | 9%
U qRep e Ry R @ & | S 31 W, 2017
B FAT B drel dY Pl GIE Ridbs @il A 28—

4

To dei¥ b/d 3,464
To A@T—uferor oh 33,525
To Y& A@T ¥ Iqee! 20,000
To 3720 & 3U+ wfasy fAfy

A B P D

e gg e 6,480
To URI&TH Bl qed 5,200
To YRMT BN TV AR 800
To Ife gxe 3ife gfear

B THIEE | Wi 1,100
To WRH AP N &t 200
To SR 4T Wl ¥ O 500
To H/P ¥ fmm 6.000
To ¥ & W | &UTH 300

77.569

C-201 (7)

4
By ®raied—ad 8,100
By Jwisl &1 wlig 8,000
By J®1& o+ &1 @4 2,000
By ®Re] @d 8,000
By W<l Yob 200
By Siia 4 shiftraw 6.000
By #leX SR &I W 2.400
By et 569
By H/P @ &y 400

By I & f&am rn =W 3,000
By ST&w@R g9d d%

@ § o 10,000
By 3R 400
By 9iUw @ ¥ W 2,000
By dei¥ c/d 26,500
—_—
77.569 .
—T1.569. ¢

PT.O.
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R IS BT M A I
m—ﬁuﬁwaﬁmﬂ—miﬁﬁmaﬂﬁﬁﬁm
AN AR AT U B PR-ATT G A oy
‘aﬁm_

(i)mmmﬁ'ﬁmiﬁmm%mm

%1600 BT TieR Wl ¥1 T8 weR S,
2017 ¥ %y f&a )

(i) PRI BT Th fAeR 0 o) wam 3§ i )

(ii)1 3WT, 2016 B AR IR F1 IR Y
310,000 AT BAFER &1 JUfARIA Fod 22,400 2T}
T8 PR faawR, 2015 # 211,111 # 7 B 7 A

(iv) ST aEar 00 witg wiasy Ay # ofwem
HYAl & TAT 10 ™ X A s9a Afew Ay o #
7600 TSl & oAl fha T B

(v) gEId (@if¥e gere) S e wae $ fon wa
EalER]

What are the assets on which depreciation rebate is
allowed under section 32(1) of the Income Tax Act 7[4]

32(1

2(1) & TEa EE e Wga A Wl &

UNIT - 111

gorg — 11

{ d(,\ vOou mean b Y Capnal gams ! DlSllngulSh
I l ‘ ' 6 ] 6]

Which capital gains are exempted from tax. ‘
vy il Lapiial 5 . < qﬂ
S A oTT a9 §Ae §f el W?ﬁ"‘ “Ff ' %“‘@‘.
et Gof @y A efy dangd | Dr-er

£ 741

(81

-,

6. (a)

(b) When is an income arising to the spouse of an

individual included in the total income of such

individual? [4]
Wwﬁa%sﬁmmaﬁﬁmﬁmwﬁaaﬁ@
A W Fe aftaferd fear srar 7

Manan had the following investments during the year
2016-17: [16]

. (1) 27,000 8% Municipal Debentures

=201

(ii) ¥10,000 7% Port Trust Bonds
(iii) ¥15,000 10% Govt. Paper
(iv) 336,000 10% Tax Debentures of Cloth Mill Co.

(v) 7,500, 10% Debentures of Jaipur Spinning Mills.

(vi) %10,000

12% Debentures of a Co-operative
society.

(vii)%20,000 15% preference shares of an Indian
company.

Interest on above investment is payable on 1% June and

1*' Dec. every year. Dividend is paid in the month of
May.

On 1 Sept, 2016 he bought 720,000 8% UP Govt. loan
at 320,600, the interest on which is payable on 30t
June and 31st Dec. For this purpose he took a loan
from his bankers of ¥12,000 @8%. The bank also
charged 2% commission on realization of interest and
dividends and 1% commission on purpose of securities,
Debentures of Cloth Mill Co. are listed at B
stock exchange while debentures of Jaipur §
Mills are not listed at any stock exchange. The public
are not substantially interested in Jaipur Spinning Mill.

ombay -
pinning

(9) PTO.
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i s s R

Find the taxable income from other sources “Ssllmmg
that interest and dividend in each case is Dald-.
account payee cheque only.

2016—17ﬁm?ﬁHWH$Wﬁ1ﬂmﬂﬁﬁm
o
(i) 327.000 8% <prreenifora Rederd

(ii) 10,000 7% q1d g dis

(i) T15.000 10% TR TR

(iv) 236,000 10% BT e U @ o fede™
(v) %7.500. 10% SR Rafyr fiew & fed=ria;
v wEer aif @ R,
(vii)T20.000 15% TD AR B B QT TR

SR R ) @S B fﬁﬁuﬁaﬁ1ﬁﬁﬁ%
ﬁ;ﬂmaﬁﬁﬁmm%lmzﬁrwﬁé
S © |

(vi) T10.000 12% T

ez, 2016 @I I8 zzooooﬁz{r 8% HW%%
Wtﬁxmizosoof{@*\ﬁm R
mm%ﬂmaﬁwélwma&»mﬁﬁ;‘q
<.m1<f.2oooaﬂma°/oa%’ra<®ﬁimlﬁ‘cﬁ %
FAEE AN T oY O aﬂﬁa‘:ﬁﬂ aﬂ’é‘
*:%—mgfa@%m*ﬁumzﬁmaqa faar |
mrwﬁ'ﬁamqam‘s‘mﬁrﬁrwwﬁﬁm
»w%WfWﬁWﬁﬂ?ﬁﬂlﬁW ﬂ
o 2 g 7 | oIy R e # S
EIEEIE ”*ﬂ TRl | «
AT 7\,{a¥ﬁ!§$ﬁﬂaﬁwmﬁgmfw
«wfrtmﬁvmﬁmwwzﬁrgrmﬂgfm‘
i fwE A O A g R e § )

7.

(b) Write the exceptions to the general rule that a loss

under any head can be set off against income of any
other head. [4]

@?ﬁﬁ?ﬁaﬁaﬁaﬁqﬁ?mﬁ;ﬁsﬁéﬁaﬁmﬁ
ford W™ @ WM from & auarl @ fafag |

UNIT -1V
ghIg — 1V

(a) Compute the total income and tax payable by a Hindu

Undivided Family for the AY. 2017-18 from the
following particulars :

[4+6+6]
®
(i) Income from business 7,81,000
(it) Income from house property : (computed) 44,000
(iii) Interest on bank deposit in saving bank a/c 48,000
(iv) Life insurance premium paid by him 20,000
(v) Interest deemed to have been accrued on -
National Saving Certificate purchased by the
family during the financial years 2011-12
and 2012-13. 10,750
(vi) Gross Agricultural income 30.000

(vii) Expenditure incurred on agricultural operations 16 000

(viii)Tax levied by State Government on agriculturﬂ

income. 2.000

Assume that two members of lh‘c family have the"

individual taxable income exceeding 32 50;()00 .
Frfafen fame 9 ax-FuRu af 2017-18 o fora
ferg, afrmifra aRaR @1 B oM v 21 By 4 +
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(b)

()

L

(i) @OR 351 3 7.81,009 |
(ii) HBA—GURT B 3T (RHierd) 44,0q9

(i) ¥ ¥ <Uq @R A SN AR R A1

48,00) |
(iv) SES SR BT TAT Siad G WA 99,9,
(v) aRar gr faxf a¥ 2011-12 Td 201213
¥y 5 T ISy g9 93 B IRt
AT T TS 10,750
(vi) I5d P I 30,000
(vii) B ol R f&ar a1 g 16,000

(Vi) PIE-3T TR I8 WDR gRT AT AT HR 2,000

Zg #IFR % gRaR & < g @ fon I
%2,50,000 ¥ 3P Td HR-ATG B |

Explain the maximum amount qualifying for deduction
in respect of charitable donations. (4]

ol qE B Wﬁmm'ﬂﬁraﬁm

I BT GEY |

Explain in brief the deduction allowed to an assesseC ":
respect of various payments while computing his t[olta

income.
B TA I P m*ﬁwﬁﬁqmﬁ
B «wﬂﬂéﬁ—*ﬁfﬁa’—éfﬁﬁcﬁﬂm

ox 30 3 d
Total income of an individual assessee in %5,35,000 qﬂ‘

agricultur2l income is %20,000. Compute the t
payable.

®)

?

6]

4 can

U@ AT awamar ot ot @ 25,35,000 & @ HiY I
320,000 %l?‘mmﬁmaﬁﬁm

UNIT -V
3PIE — V

(@) X, Y and Z are equal partners in a firm. Profit and Loss

Account of the firm for the year ending 31-3-2017 is as

follows : [16]
) ®)
Trade Expenses 25,000 Gross profit b/d 90,000
- Provision for bad debts 2,300 Commission 5,000
Postage 2,700 Interest on Govt. Sec. 3,000
Depreciation 1,000 Dividend from
Donations 6,000 Indian companies 4,020
Rent of building (paidto Y) 10,000 Long term capital
gain (computed ) 2,000
Interest on capital 20,000 Wining from lottery
Net profit 58,020 on 1* June, 2016 (Net) 21,000
1,25,020 1,25,020

Additional Information —

(i) Trade expenses include 33,200 regarding purchases
of one typewriter purchased for office on 1-1-2017

and income tax liability of 32,770 paid during the
previous year.

(i) Firm purchased some office furniture on 1-3-2016
for ¥20,000. Practically there were no fixed assets

other than typewriter and furniture with the firm on
which depreciation may be allowed.

(iii) Donations are given to approved institutions.
(iv) I(;lteaest on capital is paid to partners @20% as per
ee

(13) P.T.O.
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You are required to calculate the tota

AT B A av—fikor ad 2017—18 @ A B WA 9

l income an net

o & f99 1—1—2017 @1 %9 fHar Tar o a9 |

tax liability of the firm for the A.Y. 2017-18 R I qg TR B TN HIRAT
) . !
T, A€ U4 Sie BENER ion of & !
31-3-2017 @I an;ﬁwjr;aé Eal ?rmmg?é“@‘b’:é (5) What do you mean by deduction of tax souree ? {4
= T - i quwmﬁaﬁé’t@mmm%?
: 3 i “Best Judgment Assessment 7" Under
AR am 25,000 |oH AT bid 90,000, e \\i\'/}:;attclisrglcre:;tazzes czsn recogurses be had to this method
N @ o 2,300 FHRT ’ 5,000: * of assessment ? What are the remedies Open4t-;)6i2?
STH-TY 2,700 T R assessee against such assessment ? [
TEEN 1,000 W =& 3000 gt Pk ek § @ aed € W-ﬁ"‘ﬁ_‘g
EEl 6,000 W FURG § amE 4,020 aﬁsﬁqaﬁraﬁmtrﬁﬁwﬁﬁfﬁaqq'am;wg? '
T B [y 10,000 <rd@ifers g amy @m—ﬁaﬁw$ﬁﬁm$wm ’
rtr—g ST, Eparr o) 2000 (b) Ashish estimated his income for the previous year
T T @ 20,000 eH ¥ Wi 2017-18 at 10,00,000. Calculate the ameun’ o '
‘ - ! ish i i installments.
58,020 1 T 2016 () W 21,000 advance tax payable by Ashish in various ins T4
1,25,020 1,25,020
R | e Y T a¥ 2017—18 & fAQ ST A BT STA
I A— _ 210,00,000 TN | e grer = fpwdt 7 fim X
(iy =uiREs =¥ § 3200 U6 CRUWNIEY HT B 21 ¥ s S

(i) B9 F 1-2-2016 B %20,000 BT BATER Hy (&l
! 7 T FEER Bl Blee] BH @ grg U
G BIE AeRT TE B fog W) 3N WieR fear o

(i31) 2T HET WS e BT fear My 2

(iv) 991 W W GEER God P AgER 20% @ &N
¥ 2o 7 2

(15)

c-201
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